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CHEMISTRY (GUJRATI ENGLISH)

SOME BASIC CONCEPTS OF CHEMISTRY

Section A Questions 1 1 Importance Of Chemistry

1. Give the importance of chemistry.

A. 

B. 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uNQC2zrAhXxM


Section A Questions 1 2 Nature Of Matter

C. 

D. 

Answer:

View Text Solution

1. Define about nature of matter.

A. 

B. 

C. 

https://dl.doubtnut.com/l/_uNQC2zrAhXxM
https://dl.doubtnut.com/l/_QVAdncGcLdRH


D. 

Answer:

View Text Solution

2. Classify matter according to physical state.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_QVAdncGcLdRH
https://dl.doubtnut.com/l/_Ex75LwQgrns1


3. Describe the characteristics due to different physical

state of mater.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_Ex75LwQgrns1
https://dl.doubtnut.com/l/_uSZIlUDbmmov


4. Explain classification of matter based on chornical

properties. ( Macrosopic)

A. 

B. 

C. 

D. 

Answer:

View Text Solution

5. Define mixture and its types.

A. 

https://dl.doubtnut.com/l/_Gpx1nkoDZ68T
https://dl.doubtnut.com/l/_SBJotYfXMX84


B. 

C. 

D. 

Answer:

View Text Solution

6. Write about element.

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_SBJotYfXMX84
https://dl.doubtnut.com/l/_ADOq2XfqphEy


Answer:

View Text Solution

7. Write about compound.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_ADOq2XfqphEy
https://dl.doubtnut.com/l/_eBqif3B5Myot


Section A Questions 1 3 Properties Of Matter And Their

Measurement

1. Write down properties of matter.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

2. Write note about The International system of units (SI).

https://dl.doubtnut.com/l/_xtlGthKqMKvL
https://dl.doubtnut.com/l/_ctu6032IykCn


A. 

B. 

C. 

D. 

Answer:

View Text Solution

3. What is the SI unit of mass ? How is it defined ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_ctu6032IykCn
https://dl.doubtnut.com/l/_GmzCnrYkbP4q


D. 

Answer:

View Text Solution

4. Match the following prefixes with their multiples : 

A. 

B. 

C. 

 Prefixes Multiples

(i) micro 106

(ii) deca 109

(iii) mega 10− 6

(iv) giga 10− 15

(v) femto 10

https://dl.doubtnut.com/l/_GmzCnrYkbP4q
https://dl.doubtnut.com/l/_nWzDKtEUu9LA


D. 

Answer:

View Text Solution

5. Define Mass and Weight.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_nWzDKtEUu9LA
https://dl.doubtnut.com/l/_2jitKJUoQnrr


6. Write about Density.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

7. Write about matter Properties of Temperature.

https://dl.doubtnut.com/l/_2jitKJUoQnrr
https://dl.doubtnut.com/l/_otE7TsKJ6nOV
https://dl.doubtnut.com/l/_80PDS40D6rah


Section A Questions 1 4 Uncertainty In Measurement

A. 

B. 

C. 

D. 

Answer:

View Text Solution

1. Explain Scientific Notation method of measurement.

A. 

https://dl.doubtnut.com/l/_80PDS40D6rah
https://dl.doubtnut.com/l/_9CjlqbqoPrOU


B. 

C. 

D. 

Answer:

View Text Solution

2. Express the following in the scientific notation : 

(i) 0.0048 

(ii) 234,000 

(iii) 8008 

(iv) 500.0 

(v) 6.0012

https://dl.doubtnut.com/l/_9CjlqbqoPrOU
https://dl.doubtnut.com/l/_mLHDOg7BUesa


A. 

B. 

C. 

D. 

Answer:

View Text Solution

3. Write down significant figures.

A. 

B. 

C. 

https://dl.doubtnut.com/l/_mLHDOg7BUesa
https://dl.doubtnut.com/l/_DNVO1m0qF2WA


D. 

Answer:

View Text Solution

4. Write about significant figures.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_DNVO1m0qF2WA
https://dl.doubtnut.com/l/_aYaigBXsZYoo


5. What do you mean by significant figures ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

6. How many significant figures are present in the

following ? 

https://dl.doubtnut.com/l/_aYaigBXsZYoo
https://dl.doubtnut.com/l/_63O3yZCjugZj
https://dl.doubtnut.com/l/_mfXqSv4hwBgP


(i) 0.0025 (ii) 208 (iii) 5005 

(iv) 126.000 (v) 500.0 (vi) 2.0034

A. 

B. 

C. 

D. 

Answer:

View Text Solution

7. Round up the following upto three significant figures : 

(i) 34.216 (ii) 10.4107 

(iii) 0.04597 (iv) 2808

https://dl.doubtnut.com/l/_mfXqSv4hwBgP
https://dl.doubtnut.com/l/_7AjuLARkyk8F


A. 

B. 

C. 

D. 

Answer:

View Text Solution

8. How many significant figures should be present in the

answer of the following calculations ? 

(i)  


(ii)  


(iii) 

0.02856 × 298.15 × 0.112

0.5785

5 × 5.364

0.0125 + 0.7864 + 0.0215

https://dl.doubtnut.com/l/_7AjuLARkyk8F
https://dl.doubtnut.com/l/_iExhv9xTZgYr


A. 

B. 

C. 

D. 

Answer:

View Text Solution

9. Define Dimensional Analysis.

A. 

B. 

C. 

https://dl.doubtnut.com/l/_iExhv9xTZgYr
https://dl.doubtnut.com/l/_Ybkj6UPr8DQw


Section A Questions 1 5 Law Of Chemical Combinations

D. 

Answer:

View Text Solution

1. Define Law of Conservation of Mass.

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_Ybkj6UPr8DQw
https://dl.doubtnut.com/l/_nbFcGs7snj1p


Answer:

View Text Solution

2. Explain Law of Definite proportions by examples.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_nbFcGs7snj1p
https://dl.doubtnut.com/l/_dRiwZR7HrXrh
https://dl.doubtnut.com/l/_FprSsDiBOjmk


3. Explain Law of Multiple Proportions :

A. 

B. 

C. 

D. 

Answer:

View Text Solution

4. Gay Lussac's Law of Gaseous Volumes.

A. 

B. 

https://dl.doubtnut.com/l/_FprSsDiBOjmk
https://dl.doubtnut.com/l/_UgWNT6j5XXiR


C. 

D. 

Answer:

View Text Solution

5. It ten volumes of dihydrogen gas reacts with five

volumes of dioxygen gas, how many volumes of water

vapour would be produced ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_UgWNT6j5XXiR
https://dl.doubtnut.com/l/_VoRw67yUOjQ2


D. 

Answer:

View Text Solution

6. Explain Avogadro Law with figure.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_VoRw67yUOjQ2
https://dl.doubtnut.com/l/_1mbsDpDAVOtz


Section A Questions 1 6 Dalton S Atomic Theory

1. Write about Dalton's Atomic Theory.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_1mbsDpDAVOtz
https://dl.doubtnut.com/l/_SyIUU2DWrh8Z


Section A Questions 1 7 Atomic And Molecular Masses

1. Write about Atomic mass.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

2. Write about Average Atomic Mass.

https://dl.doubtnut.com/l/_ULPv7sTPWlPx
https://dl.doubtnut.com/l/_PO5TvsHEdVLp


A. 

B. 

C. 

D. 

Answer:

View Text Solution

3. Write about Molecular Mass.

A. 

B. 

C. 

https://dl.doubtnut.com/l/_PO5TvsHEdVLp
https://dl.doubtnut.com/l/_cs0mrqZRbOE9


D. 

Answer:

View Text Solution

4. Write about Formula Mass.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_cs0mrqZRbOE9
https://dl.doubtnut.com/l/_FdQVSKcxgoua


Section A Questions 1 8 Mole Concept And Molar Mass

1. Write about Mole Concept.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_FdQVSKcxgoua
https://dl.doubtnut.com/l/_XgIv0no1Kn4w


Section A Questions 1 9 Percentage Composition

2. Write about 'Molar Mass'.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

1. Define Percentage Composition in Compound.

https://dl.doubtnut.com/l/_tM6yAussEkiL
https://dl.doubtnut.com/l/_4bDxNkmWI9Cv


A. 

B. 

C. 

D. 

Answer:

View Text Solution

2. Empirical Formula for Molecular Formula.

A. 

B. 

C. 

https://dl.doubtnut.com/l/_4bDxNkmWI9Cv
https://dl.doubtnut.com/l/_G4wtnJBHqUDP


Section A Questions 1 10 Stoichiometry And Stoichiometric

Calculations

D. 

Answer:

View Text Solution

1. Define stoichiometry and stoichiometric calculation.

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_G4wtnJBHqUDP
https://dl.doubtnut.com/l/_9xs8MgDgF5lJ


Answer:

View Text Solution

2. Write about Limiting Reagent.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_9xs8MgDgF5lJ
https://dl.doubtnut.com/l/_GvCGk7dkq6Wl
https://dl.doubtnut.com/l/_oNla18RphvgU


3. Write about Reactions in solutions and mass

percentage.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

4. Write about Mole Fraction.

A. 

https://dl.doubtnut.com/l/_oNla18RphvgU
https://dl.doubtnut.com/l/_ByjldTgSz0u6


B. 

C. 

D. 

Answer:

View Text Solution

5. Write about Molarity and Molality.

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_ByjldTgSz0u6
https://dl.doubtnut.com/l/_KmFW89yGXnbd


Section A Problems

Answer:

View Text Solution

1. If the speed of light is , calculate the

distance covered by light in 2.00 ns.

A. 

B. 

C. 

D. 

3.0 × 108ms− 1

https://dl.doubtnut.com/l/_KmFW89yGXnbd
https://dl.doubtnut.com/l/_5R1kAea1jF8Z


Answer:

View Text Solution

2. Pressure is determined as force per unit area of the

surface. The SI unit of pressure, pascal is as shown below :

 


If mass of air at sea level is , calculate the

pressure in pascal.

A. 

B. 

C. 

D. 

1Pa = 1Nm− 2

1034gcm− 2

https://dl.doubtnut.com/l/_5R1kAea1jF8Z
https://dl.doubtnut.com/l/_XhtarPWkOJBv


Answer:

View Text Solution

3. The following data are obtained when dinitrogen and

dioxygen react together to form different compounds : 

 


(a) Which law of chemical combination is obeyed by the

above experimental data ? Give its statement. 

(b) Fill in the blanks in the following conversions : 

(i)  pm 


Mass of dinitrogen Mass of dioxygen

(i)         14 g          16 g

(ii)         14 g          32g

(iii)         28 g          32 g

(iv)         28 g          80 g

1km = .........mm = ..........

https://dl.doubtnut.com/l/_XhtarPWkOJBv
https://dl.doubtnut.com/l/_2lfyonT0F0HV


(ii)  


(iii) 

A. 

B. 

C. 

D. 

Answer:

View Text Solution

1mg = ............. . kg = ............. . ng

1mL = ............L = ................ dm3

4. Convert the following into basic units : 

(i) 28.7 pm (ii) 15.15 pm (iii) 25365 mg

https://dl.doubtnut.com/l/_2lfyonT0F0HV
https://dl.doubtnut.com/l/_xFM4UXVCk4wt


A. 

B. 

C. 

D. 

Answer:

View Text Solution

5. Calculate molecular mass of glucose 

molecule.

A. 

B. 

(C6H12O6)

https://dl.doubtnut.com/l/_xFM4UXVCk4wt
https://dl.doubtnut.com/l/_J5K3o56OjN2f


C. 

D. 

Answer:

View Text Solution

6. Calculate the atomic mass (average) of chlorine using

the following data : 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_J5K3o56OjN2f
https://dl.doubtnut.com/l/_RCQqbL1KDjrL


D. 

Answer:

View Text Solution

7. Use the data given in the following table to calculate

the molar mass of naturally occuring argon isotopes : 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_RCQqbL1KDjrL
https://dl.doubtnut.com/l/_JfoUQzVfhE9n


Answer:

View Text Solution

8. Calculate the molar mass of the following : 

(i)  


(ii)  


(iii) 

A. 

B. 

C. 

D. 

Answer:

H2O

CO2

CH4

https://dl.doubtnut.com/l/_JfoUQzVfhE9n
https://dl.doubtnut.com/l/_aJZhmbdHNIRR


View Text Solution

9. Which one of the following will have largest number of

atoms ? 

(i)  

(ii)  


(iii)  

(iv) 

A. 

B. 

C. 

D. 

1gAu ( s )

1gNa ( s )

1gLi ( s )

1gCl2 ( g )

https://dl.doubtnut.com/l/_aJZhmbdHNIRR
https://dl.doubtnut.com/l/_h2KBoB6thCWC


Answer:

View Text Solution

10. What will be the mass of one  atom in g ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

12C

https://dl.doubtnut.com/l/_h2KBoB6thCWC
https://dl.doubtnut.com/l/_E0kzty2cKOUF
https://dl.doubtnut.com/l/_0138eAJ0KwJX


11. Calculate the number of atoms in each of the following

: (i) 52 moles of Ar (ii) 52 u of He (iii) 52 g of He

A. 

B. 

C. 

D. 

Answer:

View Text Solution

12. A compound contains 4.07% hydrogen, 24.27% carbon

and 71.65% chlorine. Its molar mass is 98.96g. What are its

empirical and molecular formulas ?

https://dl.doubtnut.com/l/_0138eAJ0KwJX
https://dl.doubtnut.com/l/_8tKzdi9fhRE8


A. 

B. 

C. 

D. 

Answer:

View Text Solution

13. Determine the empirical formula of an oxide of iron

which has 69.9% iron and 30.1% dioxygen by mass.

A. 

B. 

https://dl.doubtnut.com/l/_8tKzdi9fhRE8
https://dl.doubtnut.com/l/_58RdahN0sqLC


C. 

D. 

Answer:

View Text Solution

14. Determine the molecular formula of an oxide of iron in

which the mass per cent of iron and oxygen are 69.9 and

30.1 respectively.

A. 

B. 

C. 

https://dl.doubtnut.com/l/_58RdahN0sqLC
https://dl.doubtnut.com/l/_louqd6zJUHmL


D. 

Answer:

View Text Solution

15. How are 0.50 mol  and 0.50 M 

different ?

A. 

B. 

C. 

D. 

Answer:

Na2CO3 Na2CO3

https://dl.doubtnut.com/l/_louqd6zJUHmL
https://dl.doubtnut.com/l/_3mprLwWv2aZO


View Text Solution

16. Calculate the molarity of a solution of ethanol in water

in which the mole fraction of ethanol is 0.040. ( assume

the density of water to be one).

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_3mprLwWv2aZO
https://dl.doubtnut.com/l/_1fZMsbPTotyl
https://dl.doubtnut.com/l/_QdVSZcJVhMFc


17. Calculate the amount of water (g) produced by the

combustion of 16 g of methane.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

18. How many moles of methane are required to produce

 after combustion ?22gCO2(g)

https://dl.doubtnut.com/l/_QdVSZcJVhMFc
https://dl.doubtnut.com/l/_APInrfW6JENa


A. 

B. 

C. 

D. 

Answer:

View Text Solution

19. 50.0 kg of  and 10.0 kg of  are mixed to

produce . Calculate the  formed. Identify

the limiting reagent in the production of  in this

situation.

A. 

N2 ( g ) H2 ( g )

NH3 ( g ) NH3 ( g )

NH3

https://dl.doubtnut.com/l/_APInrfW6JENa
https://dl.doubtnut.com/l/_4g5RppCtbzRE


B. 

C. 

D. 

Answer:

View Text Solution

20. A solution is prepared by adding 2 g of a substance A

to 18 g of water. Calculate the mass percent of the solute.

A. 

B. 

C. 

https://dl.doubtnut.com/l/_4g5RppCtbzRE
https://dl.doubtnut.com/l/_x2xRX0k0KGyj


D. 

Answer:

View Text Solution

21. Calculate the molarity of NaOH in the solution

prepared by dissolving its 4 g in enough water to form

250 mL of the solution.

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_x2xRX0k0KGyj
https://dl.doubtnut.com/l/_YfrAqspB8dR1


Answer:

View Text Solution

22. The density of 3 M solution of NaCl is 1.25 g .

Calculate molality of the solution.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

mL− 1

https://dl.doubtnut.com/l/_YfrAqspB8dR1
https://dl.doubtnut.com/l/_gjDgbipoRubm


23. Calculate the mass per cent of different elements

present in sodium sulphate .

A. 

B. 

C. 

D. 

Answer:

View Text Solution

(Na2SO4)

24. Calculate the amount of carbon dioxide that could be

produced when, 

https://dl.doubtnut.com/l/_AR921uvXShlV
https://dl.doubtnut.com/l/_jYH6a85TyV5M


(i) 1 mole of carbon is burnt in air. 

(ii) 1 mole of carbon is burnt in 16g of dioxygen. 

(iii) 2 moles of carbon are burnt in 16 g of dioxygen.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

25. Calculate the mass of sodium acetate 

required to make 500 mL of 0.375 molar aqueous solution.

(CH3COONa)

https://dl.doubtnut.com/l/_jYH6a85TyV5M
https://dl.doubtnut.com/l/_rhfCcZQPx4qR


Molar mass of sodium acetate is .

A. 

B. 

C. 

D. 

Answer:

View Text Solution

82.0245gmol − 1

26. Calculate the concentration of nitric acid in moles per

litre in a sample which has a density ,  and the

mass per cent of nitric acid in it being 69%.

1.41gmL− 1

https://dl.doubtnut.com/l/_rhfCcZQPx4qR
https://dl.doubtnut.com/l/_h3QQYS6ynL4L


A. 

B. 

C. 

D. 

Answer:

View Text Solution

27. How much copper can be obtained from 100 g of

copper sulphate  ?

A. 

B. 

(CuSO4)

https://dl.doubtnut.com/l/_h3QQYS6ynL4L
https://dl.doubtnut.com/l/_xX74oOu1UU8t


C. 

D. 

Answer:

View Text Solution

28. In three moles of ethane  calculate the

following : 

(i) Number of moles of carbon atoms. 

(ii) Number of moles of hydrogen atoms. 

(iii) Number of molecules of ethane.

A. 

B. 

(C2H6)

https://dl.doubtnut.com/l/_xX74oOu1UU8t
https://dl.doubtnut.com/l/_zIqVlpSOHKSj


C. 

D. 

Answer:

View Text Solution

29. What is the concentration of sugar  


in mol  if its 20g are dissolved in enough water to

make a final volume up to 2L ?

A. 

B. 

C. 

(C12H22O11)

L− 1

https://dl.doubtnut.com/l/_zIqVlpSOHKSj
https://dl.doubtnut.com/l/_2J9I09xtV62q


D. 

Answer:

View Text Solution

30. If the density of methanol is , what is its

volume needed for making 2.5 L of its 0.25 M solution ?

A. 

B. 

C. 

D. 

Answer:

0.793kgL− 1

https://dl.doubtnut.com/l/_2J9I09xtV62q
https://dl.doubtnut.com/l/_tSkAc5gILn7Q


View Text Solution

31. A sample of drinking water was found to be severely

contaminated with chloroform,  


supposed to be carcinogenic in nature. The level of

contamination was 15 ppm ( by mass). 

(i) Express this in precent by mass. 

(ii) Determine the molality of chloroform in the water

sample.

A. 

B. 

C. 

D. 

CHCl3

https://dl.doubtnut.com/l/_tSkAc5gILn7Q
https://dl.doubtnut.com/l/_cYDoWTsKx27D


Answer:

View Text Solution

32. In a reaction  identify the limiting

reagent, if any, in the following reaction mixture. 

(i) 300 atoms of  molecules of B 

(ii) 2 mol A  3 mol B 


(iii) 100 atoms of A  100 molecules of B 


(iv) 5 mol A  2.5 mol A 


(v) 2.5 mol A  5 mol B

A. 

B. 

C. 

A + B2 → AB2

A + 200

+

+

+

+

https://dl.doubtnut.com/l/_cYDoWTsKx27D
https://dl.doubtnut.com/l/_CP4z2le1iwGM


D. 

Answer:

View Text Solution

33. Dinitrogen and dihydrogen react with each other to

produce ammonia according to the following chemical

equation : 

 


(i) Calculate the mass of ammonia produced if 

dinitrogen reacts with  g of dihydrogen. 


(ii) Will any of the two reactants remain unreacted ? 

(iii) If yes, which one and what would be its mass ?

N2 ( g ) + H2 ( g ) → 2NH3 ( g )

2.00 × 103g

1.00 × 103

https://dl.doubtnut.com/l/_CP4z2le1iwGM
https://dl.doubtnut.com/l/_nY4JQTnycTlv


A. 

B. 

C. 

D. 

Answer:

View Text Solution

34. A welding fuel gas contains carbon and hydrogen only.

Burning a small sample of it in oxygen gives 3.38 g carbon

dioxide,0.690 g of water and no other products. A volume

of 10.0 L ( measured at STP) of this welding gas is found to

https://dl.doubtnut.com/l/_nY4JQTnycTlv
https://dl.doubtnut.com/l/_PmSHEEGns4Fh


weight 11.6g. Calculate : (i) empirical formula, (ii) molar

mass of the gas, and (iii) molecular formula.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

35. Calcium carbonate reacts with aqueous HCl to give

 and  according to the reaction, CaCl2 CO2

CaCO3 ( s ) + 2HCl ( aq ) → CaCl2 ( aq ) + CO2 ( g ) + H2O ( t )

https://dl.doubtnut.com/l/_PmSHEEGns4Fh
https://dl.doubtnut.com/l/_y5d0COlqnBrP


What mass of  is required to react completely with

25 mL of 0.75 M HCl ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

CaCO3

36. Chlorine is prepared in the laboratory by treating

manganese dioxide  with aqueous hydrochloric

acid according to the reaction : 

(MnO2)

https://dl.doubtnut.com/l/_y5d0COlqnBrP
https://dl.doubtnut.com/l/_pEffnoKAAL3X


Section A Try Your Self

How many grams of HCl react with 5.0 g of manganese

dioxide ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

4HCl ( aq ) + MnO2 ( s ) → 2H2O ( l ) + MnCl2 ( aq ) + Cl2 ( g )

https://dl.doubtnut.com/l/_pEffnoKAAL3X


1. Write following conversions. 

 


A. 

B. 

C. 

D. 

Answer:  


View Text Solution

1km = .......... . nm = ................... dm

1ml = ............. L = ............. dm3

1km = 1012nm = 104dm

1ml = 0.001L = 0.001dm3

https://dl.doubtnut.com/l/_5qhe3rJK6rOO


2. Convert the following into basic units : 

(1) 37.6 pm (2) 25.50 pm (3) 75325 mg

A. 

B. 

C. 

D. 

Answer: (1)

View Text Solution

3.76 × 10− 11m, (2)2.550 × 10− 5s, (3)7.5325 × 10− 2kg

https://dl.doubtnut.com/l/_nbPaoSNvmWT8


3. How many volume of Hydrogen chlorid form by combine

with one volume of hydrogen and one volume of chloride

A. 

B. 

C. 

D. 

Answer: 2 volume

View Text Solution

4. How many volume of ammonia produece by combine of

one volume Nitrogen and three volume of Hydrogen ?

https://dl.doubtnut.com/l/_Cn9itixiYsFI
https://dl.doubtnut.com/l/_kk4jXB537y54


A. 

B. 

C. 

D. 

Answer: 2 volume

View Text Solution

5. Find molecular mass of the following compounds. 

(i)  (ii)  (iii) 

A. 

B. 

CaCO3 NH3 NaHCO3

https://dl.doubtnut.com/l/_kk4jXB537y54
https://dl.doubtnut.com/l/_5SlOL5HiUYVt


C. 

D. 

Answer: (i) 100 g/mol (ii) 17 g/mol (iii) 84 g/mol

View Text Solution

6. Find molceular mass of the following compounds. 

(i)  (ii)  (iii) 

A. 

B. 

C. 

D. 

C2H5OH C12H22O11 C6H12O6

https://dl.doubtnut.com/l/_5SlOL5HiUYVt
https://dl.doubtnut.com/l/_Rt8EzSWgaiRw


Answer: (i) 46 g/mol (ii) 342 g/mol (iii) 180 g/mol

View Text Solution

7. Find numbers of atom in the following. (i) 17 mole of As

(ii) 17 mole of Cl (iii) 17 mole of Li

A. 

B. 

C. 

D. 

Answer: The no. of atom are same in three examples.

View Text Solution

https://dl.doubtnut.com/l/_Rt8EzSWgaiRw
https://dl.doubtnut.com/l/_QgzOSqOP6WZF


8. Find weight of one atom of oxygen.

A. 

B. 

C. 

D. 

Answer:  gm

View Text Solution

2.656 × 10− 23

9. How many number of carbon atoms present in 250 gm

 ?

A. 

CaCO3

https://dl.doubtnut.com/l/_r3SEFo3RhwXO
https://dl.doubtnut.com/l/_pg8X61H31QIg


B. 

C. 

D. 

Answer:  carbon atom

View Text Solution

15.055 × 1023

10. Calculate mass percent of different elements present

in  ( Foric Oxide)

A. 

B. 

C. 

Fe2O3

https://dl.doubtnut.com/l/_pg8X61H31QIg
https://dl.doubtnut.com/l/_8GOZFDERC11u


D. 

Answer: 

View Text Solution

Fe = 0.7 % , O = 0.3 %

11. One compoud contain 4.07%, Hydrogen 24.47% carbon

and 71.65% chlorine. Its molar mass is 98.96 g. Find

empirical formula and molecular formula.

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_8GOZFDERC11u
https://dl.doubtnut.com/l/_u5uFAgEndWcf


Answer: Empirical formula : , 


Molecular formula 

View Text Solution

CH2Cl2

C2H4Cl2

12. In one organic compound the weight proportion of C,

H and N is  respectivily. Its molecular mass is 108

mg/mole. Find the molecular formula.

A. 

B. 

C. 

D. 

Answer: 

9: 1: 3.5

C6H8N2

https://dl.doubtnut.com/l/_u5uFAgEndWcf
https://dl.doubtnut.com/l/_lzqt2VkhXbiO


View Text Solution

13. In one organic compound percentage of C& H are 54.55

and 9.06. What will be its epirical formula.

A. 

B. 

C. 

D. 

Answer: 

View Text Solution

C2H4O

https://dl.doubtnut.com/l/_lzqt2VkhXbiO
https://dl.doubtnut.com/l/_TdmEj5XFHtc4


14. Calculate percentage of each elements of Nitroproane.

A. 

B. 

C. 

D. 

Answer: 

View Text Solution

C = 40.45 % , H = 7.86 % , O = 35.96 % , N = 15.73 %

15. How many moles of methane is required in combustion

reaction of Methene to produce  ?22gCO2

https://dl.doubtnut.com/l/_FEsFa148E31Z
https://dl.doubtnut.com/l/_K4KrRXzNhe3S


A. 

B. 

C. 

D. 

Answer: 

View Text Solution

0.5  mol CO2

16. 4 gm NaOH dissolve in 250 ml water and solution is

prepared. Find molarity of the solution.

A. 

B. 

https://dl.doubtnut.com/l/_K4KrRXzNhe3S
https://dl.doubtnut.com/l/_AtCwxO3MFLyr


C. 

D. 

Answer: 0.4 M

View Text Solution

17. The Density of 3 M NaCl solution is 1.259 ml. Calculate

molality of solution.

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_AtCwxO3MFLyr
https://dl.doubtnut.com/l/_wINS5Qqp0lbF


Answer: 2.79 m

View Text Solution

18. 5 moles of dihydrogen react with 5 moles of dinitrogen

calculate the mole of Ammonia product.

A. 

B. 

C. 

D. 

Answer: 10 mol

View Text Solution

https://dl.doubtnut.com/l/_wINS5Qqp0lbF
https://dl.doubtnut.com/l/_92JKhYxP84yn


19. 28 gm KOH is dissolved in 90 g water. Find mole

Fraction of KOH and water respectively.

A. 

B. 

C. 

D. 

Answer: Mole fraction of , 


Mole fraction of 

View Text Solution

KOH = 0.0909

H2O = 0.909

https://dl.doubtnut.com/l/_LumJ0CBVpwUM


20. 8 gm NaOH dissolve in 250 mL solution. This solution

is diluted by using 500 ml water. Find the molartiy in'

dilute solution. Also find moles of NaOH ?

A. 

B. 

C. 

D. 

Answer: 0.4 M and 0.2 mole

View Text Solution

https://dl.doubtnut.com/l/_zoY04AEypNJi


21. Find the volume of  at STP for combustion of 4 gm

Methane ?

A. 

B. 

C. 

D. 

Answer: 11.2 litre

View Text Solution

O2

22. How much gm water required to prepare 10% w/w

solution of HCl by dissolving 36.5 gm HCl.

https://dl.doubtnut.com/l/_HH61UXfOvf76
https://dl.doubtnut.com/l/_xFEu0yZlXWPK


A. 

B. 

C. 

D. 

Answer: 328.5 gm

View Text Solution

23. How many gm of NaOH required to prepare 10% w/v

100 mL NaOH solution ?

A. 

B. 

https://dl.doubtnut.com/l/_xFEu0yZlXWPK
https://dl.doubtnut.com/l/_Et1k8rAmpFL2


C. 

D. 

Answer: 30 gm

View Text Solution

24. Calculate molarity of 28% w/w  solution.

Density of  solution is .

A. 

B. 

C. 

D. 

H2SO4

H2SO4 1.202gmL− 1

https://dl.doubtnut.com/l/_Et1k8rAmpFL2
https://dl.doubtnut.com/l/_eveAUpC464Mv


Section B Objective Questions

Answer: Molarity of 

View Text Solution

H2SO4 = 3.43M

1. What is one kilogram ?

A. 

B. 

C. 

D. 

Answer:

Vi T S l i

https://dl.doubtnut.com/l/_eveAUpC464Mv
https://dl.doubtnut.com/l/_HjGU8lZZG8Mz


View Text Solution

2. What is molar mass ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

3. When the Normality and Molarity is same ?

https://dl.doubtnut.com/l/_HjGU8lZZG8Mz
https://dl.doubtnut.com/l/_pCSTENWw8RcY
https://dl.doubtnut.com/l/_4M0K2d7T4o8V


A. 

B. 

C. 

D. 

Answer:

View Text Solution

4. By change of which factors physical state of matter

change ?

A. 

B. 

https://dl.doubtnut.com/l/_4M0K2d7T4o8V
https://dl.doubtnut.com/l/_3tL81Tx21CcT


C. 

D. 

Answer:

View Text Solution

5. Give SI unit of Luminous intensity.

A. 

B. 

C. 

D. 

Answer:

https://dl.doubtnut.com/l/_3tL81Tx21CcT
https://dl.doubtnut.com/l/_5eAF3KtGkZYS


View Text Solution

6. What is one amu or u ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

7. What is concentration of solution ?

https://dl.doubtnut.com/l/_5eAF3KtGkZYS
https://dl.doubtnut.com/l/_NZ67OxHPkRDy
https://dl.doubtnut.com/l/_jtgBPgPfDitJ


A. 

B. 

C. 

D. 

Answer:

View Text Solution

8. State definition of meter.

A. 

B. 

C. 

https://dl.doubtnut.com/l/_jtgBPgPfDitJ
https://dl.doubtnut.com/l/_wvejgEl5jvpD


D. 

Answer:

View Text Solution

9. Which substance is used in refrigerator instead of CFC ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_wvejgEl5jvpD
https://dl.doubtnut.com/l/_G6JbPd6clKvu


10. What is green chemistry ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

11. Give name of two drugs used in treatment of cancer.

https://dl.doubtnut.com/l/_G6JbPd6clKvu
https://dl.doubtnut.com/l/_QwtdAIU4R85Q
https://dl.doubtnut.com/l/_VkYHxQbLch1B


A. 

B. 

C. 

D. 

Answer:

View Text Solution

12. State the mass of one atom of hydrogen.

A. 

B. 

C. 

https://dl.doubtnut.com/l/_VkYHxQbLch1B
https://dl.doubtnut.com/l/_jizT4GHOCOD0


D. 

Answer:

View Text Solution

13. Define solute and solvent.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_jizT4GHOCOD0
https://dl.doubtnut.com/l/_P34h6JhPFnRi


14. State the unit of concentration.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

15. How the chemistry is associated with nature ?

https://dl.doubtnut.com/l/_P34h6JhPFnRi
https://dl.doubtnut.com/l/_oOp74b0DT6o0
https://dl.doubtnut.com/l/_7pR45NmAedNT


A. 

B. 

C. 

D. 

Answer:

View Text Solution

16. Alloys are which type of mixture ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_7pR45NmAedNT
https://dl.doubtnut.com/l/_FPv4N3XJdluA


D. 

Answer:

View Text Solution

17. Which units are used to measure fraction of mass ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_FPv4N3XJdluA
https://dl.doubtnut.com/l/_y7E3oAEhV4Qy


18. What is mole ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

19. Bywhich instrument atomic mass is measured ?

https://dl.doubtnut.com/l/_y7E3oAEhV4Qy
https://dl.doubtnut.com/l/_L3Zd9pQbqIng
https://dl.doubtnut.com/l/_szqE6FFyJb0A


A. 

B. 

C. 

D. 

Answer:

View Text Solution

20. .

A. 

B. 

C. 

343K = ....... . ∘F

https://dl.doubtnut.com/l/_szqE6FFyJb0A
https://dl.doubtnut.com/l/_VirJ7sjOp9jt


D. 

Answer:

View Text Solution

21. What is  ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

% W /W

https://dl.doubtnut.com/l/_VirJ7sjOp9jt
https://dl.doubtnut.com/l/_26G1xpDcAiBb


22. In aqueous solution of  concentration of

 is 1.8 M then what is the concentration of  ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

Al2(SO4)3

Al+ 3 SO
− 2
4

https://dl.doubtnut.com/l/_26G1xpDcAiBb
https://dl.doubtnut.com/l/_WJSzwgEQFY43


23. State the mass of oxygen in 0.1 mole

.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

Na2CO3 ⋅ 10H2O

24. Balance the equation. 

(i)  Cu2S + O2 → Cu2O + SO2

https://dl.doubtnut.com/l/_hrwSJEgGMngm
https://dl.doubtnut.com/l/_qvLf7FdoDpjY


(ii) 

A. 

B. 

C. 

D. 

Answer:

View Text Solution

Ca3(PO4)2 + 2H2SO4 → Ca(H2PO4)2 + CaSO4

25. Equivalent weight of X is 9. The vapour density of

chloride salt is 66.75 state vulency of X.

A. 

https://dl.doubtnut.com/l/_qvLf7FdoDpjY
https://dl.doubtnut.com/l/_vLeXT9OqissV


B. 

C. 

D. 

Answer:

View Text Solution

26. Boiling point of water in Fahrenheit ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_vLeXT9OqissV
https://dl.doubtnut.com/l/_JBOCIbngBDVT


Answer:

View Text Solution

27.  is the prefix for ......... .

A. 

B. 

C. 

D. 

Answer: Micro

View Text Solution

10− 6

https://dl.doubtnut.com/l/_JBOCIbngBDVT
https://dl.doubtnut.com/l/_OI8yftHkzpOJ
https://dl.doubtnut.com/l/_zcjAUqXC8JDX


28. Total mole fraction of solution is ........... .

A. 

B. 

C. 

D. 

Answer: One

View Text Solution

29. What is the mass of one molecule of methane ?

A. 

B. 

https://dl.doubtnut.com/l/_zcjAUqXC8JDX
https://dl.doubtnut.com/l/_Jr4fFqRraoSN


C. 

D. 

Answer:

View Text Solution

30. Molecular mass of phosphoric acid is a 98 gm/mol

state Atomic mass of 'P'.

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_Jr4fFqRraoSN
https://dl.doubtnut.com/l/_RlFBOOIePkbw


Answer:

View Text Solution

31. 5M  1 lit a solution is diluted by adding 10 lit

water. State the normality of solution ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

H2SO4

https://dl.doubtnut.com/l/_RlFBOOIePkbw
https://dl.doubtnut.com/l/_Wl76tQbAganK


32. 52% water is in mixture of alochol and water state

mole fraction ethanol.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

33. Hydrogen and Oxygen both are gas. Which compound

is formed by combination of these two ?

https://dl.doubtnut.com/l/_7ZB017giNbNu
https://dl.doubtnut.com/l/_PO2hYYU3AcEB


A. 

B. 

C. 

D. 

Answer:

View Text Solution

34. state the name of method for measurement ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_PO2hYYU3AcEB
https://dl.doubtnut.com/l/_lDHnN5kxtXux


D. 

Answer:

View Text Solution

35. State the unit of temperature with explanation.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_lDHnN5kxtXux
https://dl.doubtnut.com/l/_t52ElbpMyC8E


36. Give the calculation of following : 

(i)  (ii) 

A. 

B. 

C. 

D. 

Answer:

View Text Solution

(6.7 × 104) × (8.4 × 107)
(3.4 × 10− 3)

(6.5 × 10− 7)

https://dl.doubtnut.com/l/_t52ElbpMyC8E
https://dl.doubtnut.com/l/_HUwrIuaLS36X


37. Calculate : 

(i)  and  addition 


(ii)  and  substraction

A. 

B. 

C. 

D. 

Answer:

View Text Solution

8.56 × 106 10.64 × 105

3.33 × 10− 3 5.80 × 10− 4

38. State significant figure in .7.964 × 103

https://dl.doubtnut.com/l/_NbkS9gJSRj83
https://dl.doubtnut.com/l/_XHSFkAjLfX0U


A. 

B. 

C. 

D. 

Answer: Four

View Text Solution

39. State seconds for 4 day.

A. 

B. 

C. 

https://dl.doubtnut.com/l/_XHSFkAjLfX0U
https://dl.doubtnut.com/l/_8VRVJ7wBKIHI


D. 

Answer:

View Text Solution

40. Give percentage of P in .

A. 

B. 

C. 

D. 

Answer:

View Text Solution

H3PO4

https://dl.doubtnut.com/l/_8VRVJ7wBKIHI
https://dl.doubtnut.com/l/_3nAhhU9X0UJp


41. What is limiting reagent ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

42. Give the measureent of amount in chemistry.

https://dl.doubtnut.com/l/_3nAhhU9X0UJp
https://dl.doubtnut.com/l/_McVpoASRs3ys
https://dl.doubtnut.com/l/_IZEQSpiTMWAr


A. 

B. 

C. 

D. 

Answer:

View Text Solution

43. What is stoichiometry ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_IZEQSpiTMWAr
https://dl.doubtnut.com/l/_yCyDfrzEQXqp


D. 

Answer:

View Text Solution

44. Which laws give information about Dalton's atomic

theory ? According to Dalton's atomic theory which other

laws give information about atomic principle.

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_yCyDfrzEQXqp
https://dl.doubtnut.com/l/_RY8uKmv8WRqH


Answer:

View Text Solution

45. By which method atomic mass is obtained accurately ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_RY8uKmv8WRqH
https://dl.doubtnut.com/l/_FmTdfGiXWDuk
https://dl.doubtnut.com/l/_PSvKXkHENiyB


46. State fundamental particle of matter ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

47. Which drug is used for treatment of AIDS ?

A. 

B. 

https://dl.doubtnut.com/l/_PSvKXkHENiyB
https://dl.doubtnut.com/l/_7q1YtiTPEqdb


C. 

D. 

Answer: AZT

View Text Solution

48. What is element ?

A. 

B. 

C. 

D. 

Answer:

https://dl.doubtnut.com/l/_7q1YtiTPEqdb
https://dl.doubtnut.com/l/_0QIoIFm5qcFm


View Text Solution

49. Give method to convert solid into gas.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

50. Which mixture is separated by physical method ?

https://dl.doubtnut.com/l/_0QIoIFm5qcFm
https://dl.doubtnut.com/l/_ErvA68iDVSQ6
https://dl.doubtnut.com/l/_JLOyxowZtZ8b


A. 

B. 

C. 

D. 

Answer:

View Text Solution

51. Give law of multiple proportion ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_JLOyxowZtZ8b
https://dl.doubtnut.com/l/_OoCC7TsmB5TI


Section C Multiple Choice Questions Mcqs Darpan S Exam

Oriented Mcqs

D. 

Answer:

View Text Solution

1. Which one is not included in branch of chemistry ?

A. Organic

B. industrial

C. Biochemistry

D. Natural chemistry

https://dl.doubtnut.com/l/_OoCC7TsmB5TI
https://dl.doubtnut.com/l/_ZMVqMlYw6Mux


Answer: A::C::D

View Text Solution

2. ............. Is used in tratment of cancer.

A. Paracctamol

B. Taxol

C. Aspirine

D. Peniciline

Answer: A::B

View Text Solution

https://dl.doubtnut.com/l/_ZMVqMlYw6Mux
https://dl.doubtnut.com/l/_zEUaVAXmAUtt
https://dl.doubtnut.com/l/_6g6L1xQAALlp


3. Which one used instead of CFC in refrigerator ?

A. 1, 1, 2, 2 Tetrachloroethane

B. Chloroform

C. 1, 1, 1, 2 Tetrachloroethane

D. 

Answer: A::B::C

View Text Solution

CCl4

4. Which one is not element ?

A. Diamond

B. Graphite

https://dl.doubtnut.com/l/_6g6L1xQAALlp
https://dl.doubtnut.com/l/_ombNiXptKEoc


C. Silica

D. Oxygen

Answer: A::C

View Text Solution

5. State unit of velocity ?

A. 

B. 

C. 

D. 

Answer: A::D

m2

ms− 2

m2s− 1

ms− 1

https://dl.doubtnut.com/l/_ombNiXptKEoc
https://dl.doubtnut.com/l/_CbPZapO4u6Yl


View Text Solution

6. .

A. 273

B. 68

C. 293

D. 77

Answer: B

View Text Solution

293K = .......... ∘F

https://dl.doubtnut.com/l/_CbPZapO4u6Yl
https://dl.doubtnut.com/l/_mQAM0YC3abX2


7. At the same condition of temperature, pressure and

volume the ration mass of  and  is ..........

A. 

B. 

C. 

D. 

Answer: A::B::C

View Text Solution

O2, O3 SO2

2: 1.3: 1

2: 3: 4

4: 2: 1

1: 2: 2

8. State the molecules of 1 liter slight less water ?

A. 18

https://dl.doubtnut.com/l/_emrhapzBhgbn
https://dl.doubtnut.com/l/_8R1XX6o3A1tW


B. 

C. 

D. 

Answer: A::D

View Text Solution

18 × 1000

NA

55.55NA

9. The mass of one atom of 

A. 

B.  gm

C. 

D. none of these

C 12 = ....... .

1.992648 × 1023gm

6.022 × 1023

1.992648 × 10− 23gm

https://dl.doubtnut.com/l/_8R1XX6o3A1tW
https://dl.doubtnut.com/l/_VzvGdqydS7GA


Answer: A::B::C::D

View Text Solution

10. Mass proportion of H and O in  is ..........

A. 

B. 

C. 

D. 

Answer: A::C

View Text Solution

H2O

1.008: 16

16: 3.008

1.008: 8

8: 1.008

https://dl.doubtnut.com/l/_VzvGdqydS7GA
https://dl.doubtnut.com/l/_bshFNMSBmNWi
https://dl.doubtnut.com/l/_piNBnbafgSUZ


11.  its molecular mass ...........

A. 90 u

B. 126 u

C. 124 u

D. 136 u

Answer: A::B

View Text Solution

H2C2O4 ⋅ 2H2O

12. % of H in  is .........

A. 11.11

B. 88.89

H2O

https://dl.doubtnut.com/l/_piNBnbafgSUZ
https://dl.doubtnut.com/l/_HI9YJQjrC0DU


C. 2

D. 20

Answer: A

View Text Solution

13. How much water required to convert 1 N 100 mL

Glucose to 0.1 N ?

A. 1000

B. 10

C. 1100

D. 900

https://dl.doubtnut.com/l/_HI9YJQjrC0DU
https://dl.doubtnut.com/l/_rx62HtpLDC0m


Answer: D

View Text Solution

14. The empirical formula of compound is CH. It molecular

mass is . Its molecular formula ..........

A. 

B. 

C. 

D. 

Answer: B::C

View Text Solution

78gm/mole− 1

C2H2

C6H6

C2H4

C2H6

https://dl.doubtnut.com/l/_rx62HtpLDC0m
https://dl.doubtnut.com/l/_lpfSzDH3fNah


15. The molarity of 2 mole HCl in 5 lit aq. solution is ........

A. 10

B. 2.5

C. 0.4

D. 4

Answer: C::D

View Text Solution

16. 0.01 mole sucrose dissolve in .......... Litre water so it

becomes 0.01 solution.

A. 1

https://dl.doubtnut.com/l/_5hxeni0lsA0V
https://dl.doubtnut.com/l/_6mf6KfickNs0


B. 0.0001

C. 1000

D. 0.01

Answer: A

View Text Solution

17. 100 ml 0.1 M urea solution is diluted upto 200 ml than

the molarity is ...............M.

A. 0.2

B. 0.1

C. 0.05

https://dl.doubtnut.com/l/_6mf6KfickNs0
https://dl.doubtnut.com/l/_705H4bGlMbZT


D. 0.025

Answer: C

View Text Solution

18. The formula for calculation of percentage of nitrogen

in  is .........

A. 

B. 

C. 

D. 

Answer: D

NH3

7 × 100

14

7 × 100

17

3 × 100

14

14 × 100

17

https://dl.doubtnut.com/l/_705H4bGlMbZT
https://dl.doubtnut.com/l/_faamIpREnHzM


View Text Solution

19. One atomic mass unit is how much in comparison of

?

A. 

B. 

C. 12

D. 2

Answer: B

View Text Solution

C 12

1

2

1

12

https://dl.doubtnut.com/l/_faamIpREnHzM
https://dl.doubtnut.com/l/_m65848jmldSf


20. 2 mole solute dissolve in 500 g solven molarity of

solution is .............

A. 2.5

B. 1

C. 4

D. 0.1

Answer: C::D

View Text Solution

21. 4.9 gm/lit of  is given ........... Is normality

A. 0.2

H2SO4

https://dl.doubtnut.com/l/_o5Dl0gOtJF2s
https://dl.doubtnut.com/l/_1XzhP1DopxbW


B. 20

C. 10

D. 0.1

Answer: A::D

View Text Solution

22.  aqu. solution is given  .......... gm/litre.

A. 98

B. 298

C. 33

D. 95

3NH3PO4 =

https://dl.doubtnut.com/l/_1XzhP1DopxbW
https://dl.doubtnut.com/l/_OwEAYQGFWRRE


Answer: A

View Text Solution

23. In which solution 1 mole acid in 1 litre give 1 N solution

?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

H2SO4

H3PO3

HNO3

H3PO4

https://dl.doubtnut.com/l/_OwEAYQGFWRRE
https://dl.doubtnut.com/l/_yIApYwbWZgC0


24. At what temperature 

A. 

B. 

C. 

D. Not possible

Answer: B::D

View Text Solution

∘C = ∘F

−30∘

−40∘

−20∘

25. By reduction of 1.27 gm Cu is obtained so what is the

weight of oxygen.

A. 16 gm

https://dl.doubtnut.com/l/_dsS9QjFQAFCt
https://dl.doubtnut.com/l/_fk5PW1WYFuK1


B. 8 gm

C. 1.6 gm

D. 0.16 gm

Answer: A::D

View Text Solution

26. The boiling point of water .

A. 210

B. 212

C. 373

D. -40

= ............ ∘F

https://dl.doubtnut.com/l/_fk5PW1WYFuK1
https://dl.doubtnut.com/l/_FxmdNESq2mbI


Answer: A::B

View Text Solution

27. In  and  mass oxygen

A. 

B. 

C. 

D. 

Answer: A::B

View Text Solution

H2O H2O2

1: 2

2: 1

32: 16

1: 8

https://dl.doubtnut.com/l/_FxmdNESq2mbI
https://dl.doubtnut.com/l/_epHWnolAndgl
https://dl.doubtnut.com/l/_S8xGl73QiX4r


28. Molarity of 2N aqu. solution of  is .......... M.

A. 1

B. 2

C. 

D. 4

Answer: A

View Text Solution

Ca(OH)2

1

2

29. How many grams of Glucoose in 10% w/v 400 ml

solution ?

A. 40

https://dl.doubtnut.com/l/_S8xGl73QiX4r
https://dl.doubtnut.com/l/_KkFoMJzq8iNL


B. 2.5

C. 4

D. 4000

Answer: A::D

View Text Solution

30. % of H in 

A. 40

B. 6.66

C. 10

D. 15

CH3COOH = ..........

https://dl.doubtnut.com/l/_KkFoMJzq8iNL
https://dl.doubtnut.com/l/_u2M5iuVFrOR7


Answer: B

View Text Solution

31. The empirical formula of compound is  if its

molecular mass is  than its molecular formula

is ...........

A. 

B. 

C. 

D. 

Answer: B::C::D

View Text Solution

C2H4O

88g  mol − 1

C4H8O

C2H4O

C4H8O2

C4H2O8

https://dl.doubtnut.com/l/_u2M5iuVFrOR7
https://dl.doubtnut.com/l/_jQD8hMvG98l2


View Text Solution

32. Molality is for ...........

A. 1 litre solution

B. 1 kg solution

C. 1 g solvent

D. 1 kg solute

Answer: A::C

View Text Solution

33. The mass of oxygen in  and  is respectively

............

N2O3 N2O5

https://dl.doubtnut.com/l/_jQD8hMvG98l2
https://dl.doubtnut.com/l/_4DjXhYMYqweD
https://dl.doubtnut.com/l/_KQ7tPx45z1Da


A. 48,48

B. 80,48

C. 48,80

D. 60,48

Answer: C::D

View Text Solution

34. No. of unit in SI system  ...........

A. 5

B. 7

C. 11

=

https://dl.doubtnut.com/l/_KQ7tPx45z1Da
https://dl.doubtnut.com/l/_UtawEvnSDFak


D. 12

Answer: B

View Text Solution

35. The law of conservation of mass is given by study of

which reaction ...........

A. combustion

B. fusion

C. endothermic

D. vaporization

Answer: A::B::C

https://dl.doubtnut.com/l/_UtawEvnSDFak
https://dl.doubtnut.com/l/_SKgi9Gtpe603


View Text Solution

36. The atomic mass is with respect to mass of ..........

A. 

B. 

C. 

D. 

Answer: A::C::D

View Text Solution

C 12

C 13

C 14

C 16

37. At which temperature kelvin and  are same ?∘C

https://dl.doubtnut.com/l/_SKgi9Gtpe603
https://dl.doubtnut.com/l/_D6HWNvfYwDkp
https://dl.doubtnut.com/l/_Vl5iVo7Z2DrA


A. 273

B. -40

C. -273

D. Not possible

Answer: B::D

View Text Solution

38. The number of neutron in 540 gm water

A. 

B. 

C. 

240 × NA

30 × NA

540 × NA

https://dl.doubtnut.com/l/_Vl5iVo7Z2DrA
https://dl.doubtnut.com/l/_z3NIXU6WwQ9Z


D. 

Answer: A::B::D

View Text Solution

18 × NA

39. The percentage of nitrogen in urea

A. 0.46

B. 0.28

C. 0.85

D. 0.64

Answer: A::D

View Text Solution

https://dl.doubtnut.com/l/_z3NIXU6WwQ9Z
https://dl.doubtnut.com/l/_TJUK93mVtOSU


40. The number of molecule in 4.4 gm  ..........

A. 

B. 

C. 

D. 

Answer: A::B

View Text Solution

CO2

6.022 × 1021

6.022 × 1022

6.022 × 1023

6.022 × 10− 17

41. According to whom chemistry is the science of 100

elements ?

https://dl.doubtnut.com/l/_TJUK93mVtOSU
https://dl.doubtnut.com/l/_6eVDWCNbyaTH
https://dl.doubtnut.com/l/_twsQq6C9NzCV


A. Lavoisier

B. Dalton

C. Roald Hoffman

D. Avogadro

Answer: A::C::D

View Text Solution

42. The purpose of chemistry can be understood and

described by...........

A. fundamental particles

B. atoms

https://dl.doubtnut.com/l/_twsQq6C9NzCV
https://dl.doubtnut.com/l/_lo1PfumxaKjK


C. molecules

D. all of the above

Answer: A::B::C::D

View Text Solution

43. Which branch is not included in the branches of

chemistry ?

A. Organic chemisrty

B. Industrial chemistry

C. Biochemistry

D. Natural chemistry

https://dl.doubtnut.com/l/_lo1PfumxaKjK
https://dl.doubtnut.com/l/_D8ApomOiYRS8


Answer: A::C::D

View Text Solution

44. Which is not an element ?

A. Carbon

B. Sodium

C. Oxygen

D. NaCl

Answer: A::C::D

View Text Solution

https://dl.doubtnut.com/l/_D8ApomOiYRS8
https://dl.doubtnut.com/l/_e8BKgzVqRslL
https://dl.doubtnut.com/l/_3Rik4tku4m1r


45. Chemistry is a science of .......... of the substance.

A. composition

B. structure

C. properties

D. all of the above

Answer: A::B::C::D

View Text Solution

46. Chemistry is not useful in ...........

A. digestion of food

B. functioning of brain

https://dl.doubtnut.com/l/_3Rik4tku4m1r
https://dl.doubtnut.com/l/_tdUOxe8iA1P0


C. gravitational force

D. operation of computer

Answer: A::C

View Text Solution

47. Which compounds are included in chemistry ?

A. Natural

B. Semisynthetic

C. Synthetic

D. All of the above

Answer: A::B::C::D

https://dl.doubtnut.com/l/_tdUOxe8iA1P0
https://dl.doubtnut.com/l/_0GBxcYCExQu7


View Text Solution

48. What will be volume of 8 M solution containing 1 mole

solute ?

A. 150 mL

B. 125 mL

C. 100 mL

D. 175 mL

Answer: A::B

View Text Solution

https://dl.doubtnut.com/l/_0GBxcYCExQu7
https://dl.doubtnut.com/l/_yx7Ef21RPPaf


49. ............ used in refrigerator is hazardous to ozone layer.

A. CFC

B. CMC

C. CNC

D. FCC

Answer: A::C

View Text Solution

50. Nowadays in refrigerator ............ is used which is less

hazardous..

A. CFC

https://dl.doubtnut.com/l/_gL9vFOAWxNgR
https://dl.doubtnut.com/l/_8qCr7S9hfIuy


B. HFC

C. CNG

D. CNC

Answer: B::C

View Text Solution

51. Which chemistry is involed in production of chemicals

without damaging the environment ?

A. Yellow chemistry

B. Ideal chemistry

C. Green chemistry

https://dl.doubtnut.com/l/_8qCr7S9hfIuy
https://dl.doubtnut.com/l/_Qv19RY7C2SzG


D. Pure chemistry

Answer: C

View Text Solution

52. What is Matter ?

A. All substances

B. Chemical substances

C. Anything that has mass and occupies space

D. All of the above

Answer: A::C::D

View Text Solution

https://dl.doubtnut.com/l/_Qv19RY7C2SzG
https://dl.doubtnut.com/l/_fY3vJMvtoGFv


53. ............. is the type of matter based on physical state of

matter.

A. Element

B. Gas

C. Compound

D. Mixture

Answer: A::B

View Text Solution

https://dl.doubtnut.com/l/_fY3vJMvtoGFv
https://dl.doubtnut.com/l/_Ogc7JE5LmnPX


54. In which state matters have definite volume and

definite shape ?

A. Soild

B. Liquid

C. Gaseous

D. All of the above

Answer: A::D

View Text Solution

55. In which state of matter do not have definite volume

and definite shape ?

https://dl.doubtnut.com/l/_xFAfd95nV5qO
https://dl.doubtnut.com/l/_6MOI1Jm3NuyW


A. Solid

B. Liquid

C. Gaseous

D. All of these

Answer: B::D

View Text Solution

56. ........... has liquid state at STP.

A. 

B. 

C. 

H2

Br2

O2

https://dl.doubtnut.com/l/_6MOI1Jm3NuyW
https://dl.doubtnut.com/l/_90bYuPZfhe7Z


D. Fe

Answer: B

View Text Solution

57. In which substance the elements presents in them

show new type of properties by losing their own

properties ?

A. 

B. 

C. NaCl

D. All of the above

CO2

H2O

https://dl.doubtnut.com/l/_90bYuPZfhe7Z
https://dl.doubtnut.com/l/_qeU8mY9cnZYk


Answer: A::B::C::D

View Text Solution

58. ........... is made up of same kind of atoms.

A. Element

B. Compound

C. Mixture

D. All of above

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_qeU8mY9cnZYk
https://dl.doubtnut.com/l/_WXzA40A3Gbm4
https://dl.doubtnut.com/l/_TbpGOIGWhAfz


59. In which substance the constituents retains their own

characteristic properties ?

A. Brass

B. Glucose

C. Rusting of iron

D. Water

Answer: A::B

View Text Solution

60. In which mixture the different entities of mixture can

be separated from borderline surface ?

https://dl.doubtnut.com/l/_TbpGOIGWhAfz
https://dl.doubtnut.com/l/_HiAMJ3nUgH32


A. NaCl and 

B. NaCl and Fe

C. Sugar solution

D. None of these

Answer: A::B::C::D

View Text Solution

H2O

61. The component of mixture can be seperated by ..........

A. filtration

B. crystalization

C. distillation

https://dl.doubtnut.com/l/_HiAMJ3nUgH32
https://dl.doubtnut.com/l/_Pv4o9gsfE2J4


D. all of the above

Answer: A::B::C::D

View Text Solution

62. From the following which option state mixture and

compound respectively ?

A. Sugar solution, Salt solution

B. 

C. Lemon juice, 

D. 

Answer: C

O2, H2O

NH3

H2, H2O2

https://dl.doubtnut.com/l/_Pv4o9gsfE2J4
https://dl.doubtnut.com/l/_QahtZVYi80hg


View Text Solution

63. The value of physical quantity is always equal to the

multiple of numerical value and the....

A. mass

B. volume

C. unit

D. weight

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_QahtZVYi80hg
https://dl.doubtnut.com/l/_oZY1GP8PyXEZ


64. The units which are obtained from basic units are

called ..........

A. derived units

B. mathematical units

C. significant figures

D. modern units

Answer: A::D

View Text Solution

65. Which is not a system of units for physical quantities ?

A. PPM

https://dl.doubtnut.com/l/_4aHfUrrhtapG
https://dl.doubtnut.com/l/_fEUGgKJMvqxh


B. FPS

C. SI

D. CGS

Answer: A

View Text Solution

66. IUPAC and IUPAP have recommended ........... system to

use uniformly.

A. SI

B. UI

C. FPS

https://dl.doubtnut.com/l/_fEUGgKJMvqxh
https://dl.doubtnut.com/l/_OKrQelat4cLI


D. MKS

Answer: A

View Text Solution

67. How is the SI system ? OR 

Properties of SI system are .........

A. uniform

B. universally acceptable

C. standard

D. all of the above

Answer: A::B::C::D

https://dl.doubtnut.com/l/_OKrQelat4cLI
https://dl.doubtnut.com/l/_vGddn0MD5Qvq


View Text Solution

68. What is the SI unit for mass of substance ?

A. Mole

B. Weight

C. Mass

D. kg

Answer: D

View Text Solution

69. What is the SI unit for amount of substance ?

https://dl.doubtnut.com/l/_vGddn0MD5Qvq
https://dl.doubtnut.com/l/_ntb9se6E6du3
https://dl.doubtnut.com/l/_YgepKLNn1Bfo


A. Mole

B. Weight

C. Mass

D. kg

Answer: A

View Text Solution

70. What is the symbol for SI unit for electric current ?

A. s

B. Amp

C. A

https://dl.doubtnut.com/l/_YgepKLNn1Bfo
https://dl.doubtnut.com/l/_XPubSj3XqUiL


D. Cd

Answer: A::C

View Text Solution

71. Candela is the unit of ..............

A. polarisation of light

B. luminous intensity

C. luminous temperature

D. refraction of light

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_XPubSj3XqUiL
https://dl.doubtnut.com/l/_gL0qCQi1TZVl


72. Which cylinder is used to define standard mass in

kilogram ?

A. Pt-Pd

B. Pt-I

C. Pt-Pd

D. Pt-Ir

Answer: D

View Text Solution

73. Give the unit of volume in SI system.

https://dl.doubtnut.com/l/_gL0qCQi1TZVl
https://dl.doubtnut.com/l/_uYOhsRb6e4S8
https://dl.doubtnut.com/l/_AteTNa8eIbrp


A. 

B. 

C. 

D. 

Answer: A::C

View Text Solution

(meter)3

(cm)3

(inch)3

(dm)3

74. .......... Common unit is used for volume.

A. 

B. litre

C. pascal

(meter)3

https://dl.doubtnut.com/l/_AteTNa8eIbrp
https://dl.doubtnut.com/l/_QIdeS1rXJwsO


D. atmosphere

Answer: B

View Text Solution

75. The SI unit of temperature is ..........

A. 

B. 

C. K

D. all of the above

Answer: C

View Text Solution

∘C

∘F

https://dl.doubtnut.com/l/_QIdeS1rXJwsO
https://dl.doubtnut.com/l/_ZgnLqPL3O4ia


76. What is the use of burette in laboratory ?

A. To measure volume

B. To measure density

C. To measure weight

D. To measure viscosity

Answer: A

View Text Solution

77. ............ is not a unit of density.

https://dl.doubtnut.com/l/_ZgnLqPL3O4ia
https://dl.doubtnut.com/l/_RvoM4Ale6fdj
https://dl.doubtnut.com/l/_efEvOUNdnHla


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

kgm− 3

gcm− 3

mgcm− 3

mg

cm− 3

78. What is the relation between K and  ?

A. 

B. 

C. 

∘C

K = ∘C + 273

∘C = K − 273

= 1
K − ∘C

273

https://dl.doubtnut.com/l/_efEvOUNdnHla
https://dl.doubtnut.com/l/_UbgDNvoNBRGt


D. All of the above

Answer: A::B::C::D

View Text Solution

79. What is the boiling point of water in degree farenheit ?

A. 210

B. 212

C. 373

D. none

Answer: A::B

View Text Solution

https://dl.doubtnut.com/l/_UbgDNvoNBRGt
https://dl.doubtnut.com/l/_nqc4ms3VXgR9


80. The meter (unit of length ) was redefined in 1983 by

..........

A. CGPM

B. GCPM

C. CGMP

D. GCMP

Answer: A::C

View Text Solution

https://dl.doubtnut.com/l/_nqc4ms3VXgR9
https://dl.doubtnut.com/l/_semEwMuH3Z25


81. Why alloy of Pt-lr was chosen for SI unit (mass &

length) ?

A. It is cheap metal

B. It is highly resistant to chemical attack

C. It is radioactive

D. It gets charged with change in time

Answer: A::B::C

View Text Solution

82. Which temperature is used as a stanadard referance

on a Pt-Ir bar to define meter ?

https://dl.doubtnut.com/l/_5H1kJMh7IpAM
https://dl.doubtnut.com/l/_5TVUJRvx3RKJ


A. 

B. 273 K

C. 

D. All of above

Answer: A::B::C::D

View Text Solution

0∘C

32∘F

83. What is used to express derived unit obtained from SI

unit for smaller or larger quantities ?

A. Multiple unit

B. Prefix

https://dl.doubtnut.com/l/_5TVUJRvx3RKJ
https://dl.doubtnut.com/l/_xPl31phwxCOx


C. Proper power

D. None of these

Answer: B

View Text Solution

84. Matter can neither be created nor destroyed. This

statement was given by....

A. Henery

B. Dalton

C. Lavoisier

D. Hoffman

https://dl.doubtnut.com/l/_xPl31phwxCOx
https://dl.doubtnut.com/l/_rZjDXnmbktnd


Answer: A::C

View Text Solution

85. Give the ration of Cu in Natural & Synthetic sample of

cupric carbonate.

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

1: 1

1: 1.5

1: 2

2: 1

https://dl.doubtnut.com/l/_rZjDXnmbktnd
https://dl.doubtnut.com/l/_PmyYpV1YqVL3


86. Who studied the proportion of elements in  ?

A. Joseph proust

B. Lavoisier

C. Dalton

D. Graham

Answer: A

View Text Solution

CuCO3

87. Give the proportion of Hydrogen & Oxygen in water ?

A. 1.008: 8

https://dl.doubtnut.com/l/_cheB9hri5gWr
https://dl.doubtnut.com/l/_NLqNqkqpaHkH


B. 

C. 

D. 

Answer: A

View Text Solution

8: 1.008

1.008: 8

3.008: 16

88. Which principle states that "A given compound always

contains exacly the same proportion of elements by

weight" ?

A. Law of conservation of mass

B. Law of constant proportions

https://dl.doubtnut.com/l/_NLqNqkqpaHkH
https://dl.doubtnut.com/l/_J8QkubBvTHIo


C. Law of multiple proportion

D. All of the above

Answer: A::B::C

View Text Solution

89. What is the proportion of oxygen in  and  ?

A. 

B. 

C. 

D. 

Answer: A::B

H2O H2O2

1: 2

2: 1

32: 16

1: 8

https://dl.doubtnut.com/l/_J8QkubBvTHIo
https://dl.doubtnut.com/l/_8DwMI3QkwAV2


View Text Solution

90. According to law of combining weights if Na, O and Cl

form NaCl and , then which one will be the third

compound ?

A. 

B. 

C. 

D. All of the above

Answer: A::B::C

View Text Solution

Cl2O

NaO2

Na2O2

Na2O

https://dl.doubtnut.com/l/_8DwMI3QkwAV2
https://dl.doubtnut.com/l/_xGvn287px9AH
https://dl.doubtnut.com/l/_VTJUSssw1cjT


91. Who stated that "matter is composed of small

indivisible particles" ?

A. Dalton

B. Lavoisier

C. Hoffman

D. John proust

Answer: A::D

View Text Solution

92. There is no importance of Dalton's law with reference

to ...........

https://dl.doubtnut.com/l/_VTJUSssw1cjT
https://dl.doubtnut.com/l/_vdUmgauxEtl7


A. isotopes

B. atoms

C. molecules

D. all of the above

Answer: A

View Text Solution

93. 6.048 g  and  react with each other and

produce . This reaction is explained by which

law ?

A. Constant proportion

H2 28gN2

34.048gNH3

https://dl.doubtnut.com/l/_vdUmgauxEtl7
https://dl.doubtnut.com/l/_vFFDHslPuJ5F


B. Multiple proportion

C. Combining weights

D. Charles law

Answer: A::C

View Text Solution

94. What is the combining weight of oxygen in  and 

 respectively ?

A. 48, 48

B. 80, 48

C. 48, 80

N2O3

N2O5

https://dl.doubtnut.com/l/_vFFDHslPuJ5F
https://dl.doubtnut.com/l/_6c3Gkh3tTyHP


D. 60, 48

Answer: C::D

View Text Solution

95. With the help of a ........... The difinite value of atomic

weight of an atom can be measured.

A. mass spectrometer

B. potentiometer

C. ammetes

D. none of these

Answer: A::C

https://dl.doubtnut.com/l/_6c3Gkh3tTyHP
https://dl.doubtnut.com/l/_SSt2kFyDqAcO


View Text Solution

96. What is the atomic mass of oxygen ?

A. 16.5 u

B. 15.995 u

C. 17 u

D. 18 u

Answer: A::B

View Text Solution

97. The atomic mass of one atom of .C 12 = .......... g

https://dl.doubtnut.com/l/_SSt2kFyDqAcO
https://dl.doubtnut.com/l/_PHUqyz2nFBck
https://dl.doubtnut.com/l/_tyzhRCBW6eFK


A. 

B. 

C. 

D. 

Answer: A::B::C::D

View Text Solution

1.992648 × 10− 23

6.022 × 1023

1.992648 × 1023

1.996248 × 10− 23

98. 1 amu is ........... part of atomic mass of one C atom.

A. 

B. 

C. 12

1

2

1

12

https://dl.doubtnut.com/l/_tyzhRCBW6eFK
https://dl.doubtnut.com/l/_78Vxbs5FJgvX


D. 2

Answer: B

View Text Solution

99. Mass % of H in  is ..........

A. 11.11

B. 88.89

C. 2

D. 20

Answer: A

View Text Solution

H2O

https://dl.doubtnut.com/l/_78Vxbs5FJgvX
https://dl.doubtnut.com/l/_CG9RbtahmGdE


100. What is the formula to find percentage mass of N in

 ?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

NH3

7 × 100

14

7 × 100

17

3 × 100

14

14 × 100

17

https://dl.doubtnut.com/l/_CG9RbtahmGdE
https://dl.doubtnut.com/l/_zNDJu3bsMinW


101. The formula which represents the composition of

molecule is called ........

A. molecular formula

B. empirical formula

C. mathematical formula

D. all of the above

Answer: A::B::C

View Text Solution

102. Multiple number  formula mass of

empirical formula.

(n) = ............ +

https://dl.doubtnut.com/l/_5LBl0vLJDMT8
https://dl.doubtnut.com/l/_PC1RuNulRSq2


A. molecular mass

B. formula mass

C. atomic mass

D. mole

Answer: A::C

View Text Solution

103. One metal oxide consist 60% metal what is the

proportion of oxygen ?

A. 0.6

B. 0.4

https://dl.doubtnut.com/l/_PC1RuNulRSq2
https://dl.doubtnut.com/l/_3vMHOUDPOpkZ


C. 0.5

D. 0.3

Answer: B::D

View Text Solution

104. One organic compound has empirical formula

. If its molecular mass is  then what

will be molecular formula ?

A. 

B. 

C. 

C2H4O 88g  mole− 1

C4H8O

C2H4O

C4H8O2

https://dl.doubtnut.com/l/_3vMHOUDPOpkZ
https://dl.doubtnut.com/l/_UAxYQpmLi4vH


D. 

Answer: B::C::D

View Text Solution

C4H2O8

105. What is the percentage of H in  ?

A. 40

B. 6.66

C. 10

D. 15

Answer: B

View Text Solution

CH3COOH

https://dl.doubtnut.com/l/_UAxYQpmLi4vH
https://dl.doubtnut.com/l/_HlUhBsWQp35Z


106. In one organic compound the proportion of C, H & Cl

is 10%, 0.84% and 89.2 % respectively.Its empirical formula

is.....

A. 

B. 

C. 

D. 

Answer: B::C

View Text Solution

CCl4

CHCl3

CH3Cl

CH2Cl2

https://dl.doubtnut.com/l/_HlUhBsWQp35Z
https://dl.doubtnut.com/l/_PnRzb3EEurQu


107. If 1.27 g Cu is obtained by reduction of one sample of

 then the amount of oxygen in sample is .......... g.

A. 16

B. 8

C. 1.6

D. 0.16

Answer: A::D

View Text Solution

Cu2O

108. 

.Fe2(SO4)3 + NH3 + H2O → Fe(OH)3 + (NH4)2SO4

https://dl.doubtnut.com/l/_opaf1PpXwzhE
https://dl.doubtnut.com/l/_a2M4RxeqFSF4


Give stoichiometric co-effcient of  and 

 respectively.

A. 3, 2

B. 3, 4

C. 2, 3

D. 4, 3

Answer: B::C

View Text Solution

Fe(OH)3

(NH4)2SO4

109. . Give the

stoichiometric coefficient of reactants and products

respectively.

MnO2 + KOH + O2 → K2MnO4 + H2O

https://dl.doubtnut.com/l/_a2M4RxeqFSF4
https://dl.doubtnut.com/l/_iIPY3M5VO7TD


A. 2, 4, 1, 2, 1

B. 2, 4, 1, 2, 2

C. 2, 4, 2, 1, 2

D. 2, 4, 2, 2, 2

Answer: A::B::D

View Text Solution

110. ............. is true relation for concentration. [A : Acidity]

A. 

B. 

C. 

M = N × A

N = M × A

= A
M

N

https://dl.doubtnut.com/l/_iIPY3M5VO7TD
https://dl.doubtnut.com/l/_1ycSGaNF1jng


D. 

Answer: A::B

View Text Solution

N − M = A

111. If molecular mass of solute base (M) & equivalent

weight (E) are given the relation between Molarity (X) and

Normality (Y).

A. 

B. 

C. 

D. 

Y =
X × M

E

X =
Y × M

E

Y =
X × E

M

X = Y × E × M

https://dl.doubtnut.com/l/_1ycSGaNF1jng
https://dl.doubtnut.com/l/_5ASM2erit8Zz


Answer: A

View Text Solution

112. What will be the mole fraction of solution if solution

cantain 0.1 mole of each A, B & C ?

A. 

B. 0.3

C. 0.1

D. 

Answer: A

View Text Solution

1.0

1

3

https://dl.doubtnut.com/l/_5ASM2erit8Zz
https://dl.doubtnut.com/l/_kr73jUPNTkXU


113. What is the normality of 4.9 g/ L solution of  at

 ?

A. 0.2

B. 20

C. 10

D. 

Answer: A::D

View Text Solution

H2SO4

25∘C

0.1

114. Find the weight of  in its 3N aqueos solution

at . 


H3PO4

25∘C

https://dl.doubtnut.com/l/_HySw2OKJsgW3
https://dl.doubtnut.com/l/_jlUULgFhtHUv


Molecular mass of  g/mole.

A. 98

B. 294

C. 33

D. 95

Answer: A

View Text Solution

H3PO4 = 98

115. How many grams of Glucose dissolve in 10% w/v 400

mL as solution of Glucose ?

A. 40

https://dl.doubtnut.com/l/_jlUULgFhtHUv
https://dl.doubtnut.com/l/_mCeeFQjH7tem


B. 2.5

C. 4

D. 4000

Answer: A::D

View Text Solution

116. 20 gm solute is dissolved in 200 g water. Find %w/w

A. 10

B. 40

C. 9.091

D. 90.91

https://dl.doubtnut.com/l/_mCeeFQjH7tem
https://dl.doubtnut.com/l/_JdP6chK7pwXo


Answer: A::C

View Text Solution

117. 4 g / L solutionof NaOH is given. The molarity of the

solution is ........... M. (Molecular mass of NaOH  40 g /

mol)

A. 160

B. 10

C. 0.1

D. 4

Answer: A::C

View Text Solution

=

https://dl.doubtnut.com/l/_JdP6chK7pwXo
https://dl.doubtnut.com/l/_pRLaitKojyPD


View Text Solution

118. How many moles of methanol are dissolved in 500 mL,

3 M aqueous solution of methanol ?

A. 1.66

B. 1.5

C. 15

D. 315

Answer: A::B

View Text Solution

https://dl.doubtnut.com/l/_pRLaitKojyPD
https://dl.doubtnut.com/l/_fZz7sFbgwPoE


119. The g/L of 5 M aqueous solution of NaOH is .......

(Molecular mass of  )

A. 200

B. 8

C. 12.5

D. 1.25

Answer: A::B

View Text Solution

NaOH : 40g  mole− 1

120. How many moles of solute are required in 300 g

solvent to prepare 3 molal solution ?

https://dl.doubtnut.com/l/_94ST9F1mcrLj
https://dl.doubtnut.com/l/_4krhvCgFSKKL


A. 0.01

B. 1

C. 0.09

D. 0.9

Answer: D

View Text Solution

121. If 2 moles of solute is dissolved in 500 g solvent then

the molality of solution is ..........

A. 2.5

B. 1

https://dl.doubtnut.com/l/_4krhvCgFSKKL
https://dl.doubtnut.com/l/_Dyq7UwmY6PvN


C. 4

D. 0.4

Answer: C::D

View Text Solution

122. Give the amount of water required to prepare 0.01 M

aq. solution of 0.01 mole of sucrose.

A. 1 kg

B. 0.1 kg

C. 10000 g

D. 0.05 kg

https://dl.doubtnut.com/l/_Dyq7UwmY6PvN
https://dl.doubtnut.com/l/_Hi80AmqSf9Wr


Answer: A

View Text Solution

123. One mole of acid is dissolved in one L, solution then

from the following which acid will give 1N solution ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

H2SO4

H3PO3

HNO3

H3PO4

https://dl.doubtnut.com/l/_Hi80AmqSf9Wr
https://dl.doubtnut.com/l/_XpDaUc7oa1Qo


Section C Multiple Choice Questions Mcqs Mcqs Asked In

Competitive Exam

1. From the following which one is constant ?

A. valency

B. equivalent weight

C. molecular mass

D. none of these

Answer: A::C

View Text Solution

2. What is the normality of 1 M aq solution of  ?H3PO4

https://dl.doubtnut.com/l/_7sg5uAWkHAeJ
https://dl.doubtnut.com/l/_VQL1omms6nW4


A. 1 N

B. 4 N

C. 3 N

D. 2 N

Answer: C

View Text Solution

3. Give the order of number of molecules in 100 mL

 and  respectively at STP.

A. 

B. 

O2, NH3 CO2

O2 < NH3 < CO2

NH3 > CO2 > O2

https://dl.doubtnut.com/l/_VQL1omms6nW4
https://dl.doubtnut.com/l/_DLw65zd4X7vt


C. 

D. Equal in all three

Answer: A::B::C::D

View Text Solution

O2 < NH3 = CO2

4. 1.520 g of the hydroxide of a metal on ignition gave

0.995 g of oxide. The equivalent weight of metal is

A. 

B. 0.995

C. 

D. 

1.520

19.00

9.00

https://dl.doubtnut.com/l/_DLw65zd4X7vt
https://dl.doubtnut.com/l/_5QnEmu3q45Fo


Answer: D

View Text Solution

5. According to which law different proportion of oxygen

exist in oxides of Nitrogen ?

A. Law of constant composition

B. Law of combining weight

C. Law of multiple proportion

D. None of these

Answer: A::C

View Text Solution

https://dl.doubtnut.com/l/_5QnEmu3q45Fo
https://dl.doubtnut.com/l/_AIHP6KDgFcJW


6. What is the weight of one molecule of  ? (M.wt of 

g/mole)

A. 

B. 

C. 

D. 

Answer: A::B::C

View Text Solution

CO2

CO2 = 44

3.37 × 10− 23g

7.31 × 10− 23g

2.1 × 10− 23g

3.41 × 10− 23g

7. How many atoms of gold are present in 19.7 kg of gold ?

(At  of )ωt Au = 197

https://dl.doubtnut.com/l/_yEcpRpWhnCnw
https://dl.doubtnut.com/l/_SAQSf40Y1f6d


A. 

B. 

C. 

D. 

Answer: A::B::C

View Text Solution

6.022 × 1024

6.022 × 1023

6.022 × 1025

6.022 × 1021

8. Sulphur forms the chlorides  and .The

equivalent mass of sulphur in  is

A. 8 g/mol

B. 16 g/mol

S2Cl2 SCl2

SCl2

https://dl.doubtnut.com/l/_SAQSf40Y1f6d
https://dl.doubtnut.com/l/_j9N9xZnY75cu


C. 64.8 g/mol

D. 32 g/mol

Answer: A::B

View Text Solution

9. 25 mL 3M  and 75 mL 4 M  solutions are

mixed. Then the molarity of the resulting solution is ..........

M.

A. 3.5 M

B. 3.75 M

C. 3 M

HNO3 HNO3

https://dl.doubtnut.com/l/_j9N9xZnY75cu
https://dl.doubtnut.com/l/_WhDaipadfgIn


D. 4.5M

Answer: B::C

View Text Solution

10. 74.5 g metal chloride contain 35.5 g chlorine. Then the

equlvalent weight of metal is.....

A. 39

B. 74.5

C. 78

D. 19.5

Answer: A::C

https://dl.doubtnut.com/l/_WhDaipadfgIn
https://dl.doubtnut.com/l/_p1iWWQdMwCau


View Text Solution

11. The molecular mass of hydrogen peroxide is 34. What is

the unit of molecular mass ?

A. mole

B. g

C. kg /mole

D. g /mole

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_p1iWWQdMwCau
https://dl.doubtnut.com/l/_ZnAa2EA4TxBl


12. 1 mole  contain....

A.  hydrogen gas

B.  atoms of hydrogen

C. 8g molecules of hydrogen

D. 4 g atoms of hydrogen

Answer: A::D

View Text Solution

CH4

6.022 × 1023

6.022 × 1023

13. 5.85 g NaCl dissolved in 1 L solution. Find the

concentration of solution. 

(molecular mass of )NaCl : 58.5g/mol − 1

https://dl.doubtnut.com/l/_LXoSqDhdX9mb
https://dl.doubtnut.com/l/_L8RGexBYn4oX


A. 0.1 M

B. 2 M

C. 1 M

D. 0.5 M

Answer: A

View Text Solution

14. From the following which one has least number of

molecules ?

A.  at STP

B. 0.1 mole  gas

22.4LCO2

CO2

https://dl.doubtnut.com/l/_L8RGexBYn4oX
https://dl.doubtnut.com/l/_f6vUzhNvwdMq


C. 22 g  gas

D. 11200 mL  at STP

Answer: A::B::C

View Text Solution

CO2

CO2

15. If two compounds have same empirical formula but

different molecular formula then.....

A. percentage proportion of elements is diff.

B. molecular mass is different.

C. density is same

D. vapour density is same.

https://dl.doubtnut.com/l/_f6vUzhNvwdMq
https://dl.doubtnut.com/l/_bU7UsahOPLSs


Answer: A::B::C::D

View Text Solution

16. Which unit of concentration does not depends on

temperature ?

A. formality

B. % w/v

C. normality

D. molality

Answer: A::D

View Text Solution

https://dl.doubtnut.com/l/_bU7UsahOPLSs
https://dl.doubtnut.com/l/_M8TiIuhZ8OeD


17. From the following which one has least number of

molecules ?

A. 

B. 

C. 

D. 

Answer: B::D

View Text Solution

16gH2O

28gCO

46gC2H5OH

54gN2O5

18.  contain ........... oxygen atoms.

A. 

4.4gCO2

1.2044 × 1023

https://dl.doubtnut.com/l/_J4A0j3tLKkyO
https://dl.doubtnut.com/l/_3OULUZOGlapV


B. 

C. 

D. 

Answer: A::B::C::D

View Text Solution

1.2044 × 1022

1.68 × 1023

1.68 × 1022

19. The normality of aqueous solution of  is

...........

A. 1.5 N

B. 3 N

C. 0.5 N

1MH3PO4

https://dl.doubtnut.com/l/_3OULUZOGlapV
https://dl.doubtnut.com/l/_l4M6AG0gjO7u


D. 2 N

Answer: B::C

View Text Solution

20. What is the volume of 1 g hydrogen gas at STP ?

A. 11.2 L

B. 22.4 L

C. 1.12 L

D. 2.24 L

Answer: A::B

View Text Solution

https://dl.doubtnut.com/l/_l4M6AG0gjO7u
https://dl.doubtnut.com/l/_y5a1JgmzIA4c


21. The total number of protons in  are......

A. 

B. 

C. 

D. 

Answer: A::B::C::D

View Text Solution

10gCaCO3

3.011 × 1023

3.011 × 1024

3.011 × 1022

3.011 × 1025

22. One metal hydrogen phosphate has molecular formula

 then what is formula for metal chloride ?MHPO4

https://dl.doubtnut.com/l/_y5a1JgmzIA4c
https://dl.doubtnut.com/l/_hwFNto39UCr7
https://dl.doubtnut.com/l/_V6y3KiLZfWuJ


A. MCl

B. 

C. 

D. 

Answer: B::C

View Text Solution

M2Cl3

MCl2

MCl3

23. One amu is equal to.....

A. 

B. 

C. 

C 121

12

C 121

6

1.001gH2

https://dl.doubtnut.com/l/_V6y3KiLZfWuJ
https://dl.doubtnut.com/l/_SUXxaF3pgWtj


D. 

Answer: A

View Text Solution

S321

32

24. Number of g of oxygen in 32.2 g 

(Mol. ) is .........

A. 

B. 2.24

C. 18

D. 22.4

Answer: B::D

Na2SO4 ⋅ 10H2O

ωt = 322

16.0

https://dl.doubtnut.com/l/_SUXxaF3pgWtj
https://dl.doubtnut.com/l/_L0Yc42scAjZ7


View Text Solution

25. The weight of 1 molecule of the compound  is...

( )

A. 

B. 

C. 

D. 

Answer: A::B::C

View Text Solution

C60H122

NA = 6.0 × 1023

1.4 × 10− 21g

1.09 × 10− 21g

5.025 × 1023g

16.023 × 1023g

https://dl.doubtnut.com/l/_L0Yc42scAjZ7
https://dl.doubtnut.com/l/_37UWHQB90o7H


26. The percentage of nitrogen in urea is about......

A. 23.23

B. 46.67

C. 75

D. 37.5

Answer: B::D

View Text Solution

27. The ratio of atomic mass of H and carbon is  in one

hydrogen then its empirical formula is.....

A. 

1: 3

CH4

https://dl.doubtnut.com/l/_UVGMiAlvH1Nz
https://dl.doubtnut.com/l/_Vc16NplDB77B


B. 

C. 

D. 

Answer: A::C::D

View Text Solution

CH2

C2H2

CH3

28. The number of significant figures in 6.0023 are

A. 5

B. 4

C. 3

D. 1

https://dl.doubtnut.com/l/_Vc16NplDB77B
https://dl.doubtnut.com/l/_EnHiOMWMHTu2


Answer: A

View Text Solution

29. A mixture of methyl alochol and acetone can be

separated by

A. Distillation

B. Fractional distillation

C. Stream distillation

D. Distillation under reduced pressure

Answer: A::B::C::D

View Text Solution

https://dl.doubtnut.com/l/_EnHiOMWMHTu2
https://dl.doubtnut.com/l/_Q0RXc854ORBk


30. 2.5 L of 1 M NaOH solution is mixed with another 3 L

solution of 0.5 M NaOH solution Then the molarity of the

resulting solution is....

A. 0.560 M

B. 1.0 M

C. 0.73 M

D. 0.50 M

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_dKfMpC0U2c5n


31. How many grams of  required for the redox

reaction of 1 L of  in acidic medium ?

A. 31.6

B. 78

C. 63.2

D. 158

Answer: A::C

View Text Solution

KMnO4

1NMnO4

32.  and  ions are present in 

. The mass of sample is.....

3.01 × 1023Ca+ 2 CO− 2
3

CaCO3

https://dl.doubtnut.com/l/_Fn9rnmrFcCQW
https://dl.doubtnut.com/l/_sh0QQhSLlNcU


A. 40 g

B. 50 g

C. 60 g

D. 70 g

Answer: B

View Text Solution

33. The atoms of 0.004 g magnesium are.....

A. 

B. 

C. 24

2 × 220

6.02 × 1023

https://dl.doubtnut.com/l/_sh0QQhSLlNcU
https://dl.doubtnut.com/l/_8gmB7CJxVuo4


D. 

Answer: A::B::D

View Text Solution

1020

34. 1 mole 

A. 

B.  molecule

C.  (NTP)

D. All of the above

Answer: A::B::C

View Text Solution

SO2 = ..........

6.4gSO2

6.02 × 1023SO2

22.4LSO2

https://dl.doubtnut.com/l/_8gmB7CJxVuo4
https://dl.doubtnut.com/l/_96WfMs6Ckamj


35. 1 gram hydrogen is present in 0.0833 mole

carbohydrate. The empirical formula of carbohydrate is

. What will be the molecular formula ?

A. 

B. 

C. 

D. 

Answer: A::B::C::D

View Text Solution

CH2O

C5H10O5

C3H4O3

C12H22O11

C6H12O6

https://dl.doubtnut.com/l/_96WfMs6Ckamj
https://dl.doubtnut.com/l/_rK0Le0lsNe8N


36. Mixture  mol of  and 0.02

mole of  was prepared in 2 L of

solution. 

1 litre of mixture  excess of  


1 litre of mixture  excess of  


Number of moles of y and z are ...

A. 0.01, 0.01

B. 0.02, 0.01

C. 0.01, 0.02

D. 0.02, 0.02

Answer: A

View Text Solution

x = 0.02 [Co(NH3)5SO4]Br

[Co(NH3)5Br]SO4

x + AgNO3 → y

x + BaCl2 → z

https://dl.doubtnut.com/l/_frLLeCWn5p2h


37. How much water required to convert 10 mL 10 N

 in 0.1 N 

A. 1000 mL

B. 990 mL

C. 1010 mL

D. 10 mL

Answer: B

View Text Solution

HNO3 HNO3

38. Give number of H atoms in 0.046 g ethanol.

https://dl.doubtnut.com/l/_frLLeCWn5p2h
https://dl.doubtnut.com/l/_8EdPm7z3Ti4M
https://dl.doubtnut.com/l/_QQGatEGRpTL6


A. 

B. 

C. 

D. 

Answer: A::B::C::D

View Text Solution

6 × 1020

1.2 × 1021

3 × 1021

3.6 × 1021

39. A bivalent metal has an equivalent mass of 32. The

molecular mass of the metal nitrate is

A. 168

B. 192

https://dl.doubtnut.com/l/_QQGatEGRpTL6
https://dl.doubtnut.com/l/_KBsmkBRBmWbM


C. 188

D. 182

Answer: A::C

View Text Solution

40. If one organic compound has C & H respectively 92.3%

and 7.7% then its empirical formula is.....

A. CH

B. 

C. 

D. 

CH3

CH2

CH4

https://dl.doubtnut.com/l/_KBsmkBRBmWbM
https://dl.doubtnut.com/l/_OOrAZxr6x033


Answer: A::C

View Text Solution

41. In one compound 54.55 % C, 9.09 % H and 36.36 % O

are present. Its empirical formula is.....

A. 

B. 

C. 

D. 

Answer: B::C::D

View Text Solution

C3H5O

C4H8O2

C2H4O2

C2H4O

https://dl.doubtnut.com/l/_OOrAZxr6x033
https://dl.doubtnut.com/l/_Bh57hbsmqFUk


42. If excess  gas is passed in 0.205 mole 

then give the amount of  produced.

A. 81 g

B. 40.5 g

C. 20.25 g

D. 162 g

Answer: B::D

View Text Solution

CO2 Ba(OH)2

BaCO3

43. 30 mL  and 20 L  reacts to form water then what

will left at the end of reaction ?

H2 O2

https://dl.doubtnut.com/l/_8gqBFzhhGEKP
https://dl.doubtnut.com/l/_IUqefMHC2V7V


A. 5 mL 

B. 5 mL 

C. 10 mL 

D. 10 mL 

Answer: B

View Text Solution

H2

O2

H2

O2

44. Molar solution is equal to 1 mole solute in.....

A. 1000 g solvent

B. 1 L solvent

C. 1 L solution

https://dl.doubtnut.com/l/_IUqefMHC2V7V
https://dl.doubtnut.com/l/_TJuOTlDPLGnD


D. 1000 g solution

Answer: A::C

View Text Solution

45. How many molecules of  is in 44 g  ?

A. 

B. 

C. 

D. 

Answer: A::B::C

View Text Solution

CO2 CO2

6 × 1023

3 × 1023

12 × 1023

3 × 102

https://dl.doubtnut.com/l/_TJuOTlDPLGnD
https://dl.doubtnut.com/l/_70ra6JJ33jrE


46. Give moles of  .........

A. 0.083

B. 0.952

C. 0.481

D. 0.146

Answer: A::D

View Text Solution

50gAl2(SO4)3

47. How many grams of NaOH is dissolved in 2 L 0.5 NaOH

aqueous solution ? 

https://dl.doubtnut.com/l/_70ra6JJ33jrE
https://dl.doubtnut.com/l/_MyG7H3F5lgHr
https://dl.doubtnut.com/l/_OHAEMXL8CTL9


Molecular weight of NaOH : 40 g /mol.

A. 0.4 g

B. 40 g

C. 0.4 g

D. 8.0 g

Answer: B::D

View Text Solution

48. Normality of 0.04 M  is .......

A. 0.04 N

B. 0.08 N

H2SO4

https://dl.doubtnut.com/l/_OHAEMXL8CTL9
https://dl.doubtnut.com/l/_7PcVvVcLvGdq


C. 0.02 N

D. 0.01 N

Answer: B

View Text Solution

49. 4 g Cu is dissolved in concentrated . On heating

this solution 5 g oxide will be obtained Then the

equivalent weight of Cu is.....

A. 23

B. 32

C. 12

HNO3

https://dl.doubtnut.com/l/_7PcVvVcLvGdq
https://dl.doubtnut.com/l/_zN4JGDrMVAai


D. 20

Answer: B::C

View Text Solution

50. One mole 

A.  molecule

B.  molecule

C.  atoms

D.  atoms

Answer: A::B::C::D

View Text Solution

CO2 = .......... .

3gCO2

18.1 × 1023O2

6.02 × 1023O

6.02 × 1023C

https://dl.doubtnut.com/l/_zN4JGDrMVAai
https://dl.doubtnut.com/l/_iNVN89nVWmiQ


51. Equal moles of water and urea taken in one flask. Give

percentage weight of urea.

A. 

B. 0.77

C. 0.7692

D. 

Answer: B::C

View Text Solution

23.077 %

7.7 %

https://dl.doubtnut.com/l/_iNVN89nVWmiQ
https://dl.doubtnut.com/l/_QkTFRg5ZhpP1


52.  molecular of HCl dissolve in 

solution. The concentration of solution is.....

A. 6 N

B. 2 N

C. 4 N

D. 8 N

Answer: B

View Text Solution

1.2046 × 1024 1dm3

53. 13.8 g ethyl alcohol is dissolved in 7.1 g water give the

ratio of mole of ethyl alcohol and water.

https://dl.doubtnut.com/l/_5f5E1FENoEhd
https://dl.doubtnut.com/l/_rtoULjoS4jj3


A. 

B. 

C. 

D. 1:1`

Answer: A::C::D

View Text Solution

3: 4

1: 2

1: 4

54. The percentage of an element M is 53 in its oxide of

molecular formula . Its atomic mass is about

A. 45

B. 9

M2O3

https://dl.doubtnut.com/l/_rtoULjoS4jj3
https://dl.doubtnut.com/l/_QMAkNfwptssk


C. 18

D. 27

Answer: D

View Text Solution

55. A metal M of equivalent mass E froms an oxide of

molecular formula . The atomic mass of the metal is

given by the correct equation

A. 

B. xyE

C. E/y

MxOy

2E(y/x)

https://dl.doubtnut.com/l/_QMAkNfwptssk
https://dl.doubtnut.com/l/_JHG195giFPO5


D. y/E

Answer: A::B

View Text Solution

56. The number of hydrogen atoms present in 25.6 g of

sucrose  which has a molar mass of 342.3 g is

A. 

B. 

C. 

D.  H atoms

(C12H22O11)

(NA = 6.023 × 1023)

22 × 1023

9.91 × 1023

11 × 1023

44 × 1023

https://dl.doubtnut.com/l/_JHG195giFPO5
https://dl.doubtnut.com/l/_sQwafPGWVamo


Answer: A::B::C

View Text Solution

57. How many grams of NaOH will be required to prepare

500 g solution containing 10% w/w prepare solution ?

A. 100 gm

B. 50 gm

C. 0.5 gm

D. 5.0 gm

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_sQwafPGWVamo
https://dl.doubtnut.com/l/_KV5BYdqqAr5w


58. 1.5 g of  was found to contain 0.9 g of

Cd.Calculate the atomic weight of Cd.

A. 118

B. 112

C. 106.5

D. 53.25

Answer: A::C

View Text Solution

CdCl2

59. What is the normality of 250 mL aqueous solution of

 having .H2SO4 pH = 0.00

https://dl.doubtnut.com/l/_uNWgAClz1sGU
https://dl.doubtnut.com/l/_F6j29AQBKeet


A. 0.50 M

B. 0.25 N

C. 2 N

D. 1 N

Answer: A::D

View Text Solution

60. 0.32g of metal gave on treatment with an acid 112 mL

of hydrogen at STP. Calculate the equivalent weight of the

metal

A. 58

https://dl.doubtnut.com/l/_F6j29AQBKeet
https://dl.doubtnut.com/l/_qK9j3EfXesKc


B. 32

C. 11.2

D. 24

Answer: B::C

View Text Solution

61. Which one of the following sets of compounds

correctly illustrate the law of of reciprocal proportions.

A. 

B. 

C. 

P2O3, PH3, H2O

P2O5, PH3, H2O

N2O5, NH3, H2O

https://dl.doubtnut.com/l/_qK9j3EfXesKc
https://dl.doubtnut.com/l/_x4RNLzSo4ERy


D. 

Answer: A::B::C

View Text Solution

N2O, NH3, H2O

62. If the molecular weight of  is M, its equivalent

weight will be

A. M

B. 

C. M/3

D. 2M

Answer: B

H3PO3

M /2

https://dl.doubtnut.com/l/_x4RNLzSo4ERy
https://dl.doubtnut.com/l/_5d1IsKnCMF58


Section C Multiple Choice Questions Mcqs Mcqs Asked In Jee

Neet Aieee

View Text Solution

1. One organic compound has 

and  then its empirical formula is....

A. 

B. CHO

C. 

D. 

Answer: A::B::C

View Text Solution

C = 40 % , O = 53.34 %

H = 6.60 %

CH2O

CH4O2

C2H2O

https://dl.doubtnut.com/l/_5d1IsKnCMF58
https://dl.doubtnut.com/l/_e1VZBX2uFbv5


View Text Solution

2. One mole of calcium phosphide on reaction with excess

of water gives.

A. One mole of phosphine

B. Two moles of phosphoric acid

C. Two molesof phosphine

D. One moles of phosphine

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_e1VZBX2uFbv5
https://dl.doubtnut.com/l/_IoarKkf8VHT5


3. What is the molarity of HCl solution that has a density

of 1.17 g/mL at  ?

A. 36.5 M

B. 18.25 M

C. 42.0 M

D. 32.05 M

Answer: B::C::D

View Text Solution

25∘C

4. How many moles of  consists 0.25 mole

oxygen atoms ?

Mg3(PO4)2

https://dl.doubtnut.com/l/_CMfsUplGBBJp
https://dl.doubtnut.com/l/_6wXyhpjhyh4t


A. 

B. 

C. 

D. 

Answer: A::B::C

View Text Solution

2.55 × 10− 2

0.0225

3.125 × 10− 2

1.5 × 10− 2

5. From the following which one has least molecules ?

A. 0.1 mole 

B.  at STP

C. 

CO2

11.2LCO2

22gCO2

https://dl.doubtnut.com/l/_6wXyhpjhyh4t
https://dl.doubtnut.com/l/_5VoAWT4e0liu


D.  mL  (STP)

Answer: A::B::C

View Text Solution

22.4 × 103 CO2

6. 13.8 g element consist  atoms which the

atomic mass of element ?

A. 290

B. 180

C. 34.4

D. 10.4

Answer: A::B

4.6 × 1022

https://dl.doubtnut.com/l/_5VoAWT4e0liu
https://dl.doubtnut.com/l/_8uh0o4hEodF0


View Text Solution

7. In the reaction : 

A.  is consumed for every 3L  produced.

B. 33.6 mL  is produced regardless of

temperature and pressure for every mole Al that

reacts.

C. 67.2  at STP is produced for evey mole Al that

reacts.

D. 11.2 L  at STP is produced for every mole 

 consumed.

2Al ( s ) + 6HCl ( aq ) → 2Al3 +
( aq )

+ 6Cl̄ ( aq ) + 3H2 ( g )

6LHCL( aq ) H2

H2 ( g )

H2 ( g )

H2 ( g )

HCl ( aq )

https://dl.doubtnut.com/l/_8uh0o4hEodF0
https://dl.doubtnut.com/l/_LwqGzxzsu6Ny


Answer: A::B::C::D

View Text Solution

8. The density ( in g  ) of 3.60 sulphuric acid

solution that is 29 %  (Molar mass  )

by ,mass will be

A. 1.64

B. 1.88

C. 1.22

D. 1.45

Answer: A::B::C

View Text Solution

mL− 1

H2SO4 = 98gmol− 1

https://dl.doubtnut.com/l/_LwqGzxzsu6Ny
https://dl.doubtnut.com/l/_ENEsERDEPIZ6


View Text Solution

9. In the reaction of sodium thiosulphate with  in

aqueous medium the equivalent weight of sodium

thiosulphate is equal to

A. Molar mass of sodium thiosulphate

B. The average of molar masses of  and 

C. Half the molar mass of sodium thiosulphate

D. Molar mass of sodiu thiosulphate 

Answer: A::D

View Text Solution

I2

Na2S2O3 I2

× 2

https://dl.doubtnut.com/l/_ENEsERDEPIZ6
https://dl.doubtnut.com/l/_dA5uR6UnkFHA


10. What is mole fraction of methyl alochol in a 5.2 molal

aqueous solution of methyl alcohol, .

A. 0.1

B. 0.19

C. 0.086

D. 0.05

Answer: C

View Text Solution

CH3OH

11. The density of a solution prepared by dissolving 120g

of urea ( mol .mass  u ) in 1000g of water is 1.15 g/mL= 60

https://dl.doubtnut.com/l/_WvZrOQrvDLBA
https://dl.doubtnut.com/l/_kCpRxp5g76xw


the molality of the solution is :

A. 0.50 M

B. 1.78 M

C. 1.02 M

D. 2.05 M

Answer: B::D

View Text Solution

12. What is molarity of a solution obtained after mixing of

750 mL 0.5 M HCl and mL 2 M HCl ?

A. 0.875M

https://dl.doubtnut.com/l/_kCpRxp5g76xw
https://dl.doubtnut.com/l/_WqyJFqiy6SFn


B.  M

C. 1.75 M

D. 0.975 M

Answer: A

View Text Solution

1.00

13. Combustion of a gaseous hydrocarbon give 0.25 g

water. What will be empricial formula of the hydrocarbon

?

A. 

B. 

C2H4

C2H6

https://dl.doubtnut.com/l/_WqyJFqiy6SFn
https://dl.doubtnut.com/l/_1CsFna2vho3g


C. 

D. 

Answer: C::D

View Text Solution

C3H4

C7H8

14. A gaseous mixture has oxygen and nitrogen in ratio of

1 : 4 by weight. What is ratio of number of molecules of

them ?

A. 

B. 

C. 

1: 8

3: 16

1: 4

https://dl.doubtnut.com/l/_1CsFna2vho3g
https://dl.doubtnut.com/l/_xyoXHooLpj54


D. 

Answer: B::C::D

View Text Solution

7: 32

15. Equal masses of  and methane have been taken

in a container of volume V at temperature  in

identical conditions. The ratio of the volumes of gases

methane would be

A. 

B. 

C. 

D. 

H2, O2

27∘C

H2 :O2 :

8: 16: 1

16: 8: 1

16: 1: 2

8: 1: 2

https://dl.doubtnut.com/l/_xyoXHooLpj54
https://dl.doubtnut.com/l/_AHzitPjtdHHr


Answer: A::B::C

View Text Solution

16. When 22.4 litres of  is mixed with 11.2 litres of 

, each at STP, the moles of  formed is equal

to -

A. 1 mole of 

B. 2 mole of 

C. 0.5 mole of 

D. 1.5 mole of 

Answer: A::C

View Text Solution

H2 ( g )

Cl2 ( g ) HCl ( g )

HCl ( g )

HCl ( g )

HCl ( g )

HCl ( g )

https://dl.doubtnut.com/l/_AHzitPjtdHHr
https://dl.doubtnut.com/l/_Bkl4e2rrsGK7


View Text Solution

17. 1.0 g of magnesium is burnt with 0.56 g  in a closed

vessel. Which reaction is left in excess and how much ? (

At. wt. Mg )

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

O2

= 24, O = 16

Mg, 0.16g

O2, 0.16g

Mg, 0.16g

O2, 0.28g

https://dl.doubtnut.com/l/_Bkl4e2rrsGK7
https://dl.doubtnut.com/l/_hc5ZfIGJELN1


18. In Carius method of estimation of halogens, 250 g of

an organic compound gave 141 mg of AgBr. The

percentage of bromine in the compound is : (at. Mass

)

A. 24

B. 36

C. 48

D. 60

Answer: A::B::D

View Text Solution

Ag = 108, Br = 80

https://dl.doubtnut.com/l/_7Hl8FX0RLyFg


19. A hydrocarbon contains 85.7 % C. If 42 mg of the

compound contains  molecules, the molecular

formula of the compound will be ......

A. 

B. 

C. 

D. 

Answer: A::B::C

View Text Solution

3.01 × 1020

C3H6

C6H12

C12H24

C2H4

https://dl.doubtnut.com/l/_tsXlgLOwGnDO


20. The most abundant elements by mass in the body of a

healthy human adult are : Oxygen (61.4 %): Carbon (22.9

%): Hydrogen (10.0 %) and Nitrogen (2.6 %). The weight

which a 75 g person would gain if all  atoms are

replaced by  atoms is .....

A. 15 kg

B. 37.5 kg

C. 7.5 kg

D. 10 kg

Answer: C

View Text Solution

1H

2H

https://dl.doubtnut.com/l/_W04NuRIbIonU
https://dl.doubtnut.com/l/_vz7Bt2cYuS6C


Section C Multiple Choice Questions Mcqs Mcqs Asked In

Board Exam

21. 1 grams of a carbonate  on tratment with

excess HCl produces 0.01186 mole of . The molar mass

of  in g  is .....

A. 1186

B. 84.3

C. 118.6

D. 11.86

Answer: B::C::D

View Text Solution

(M2CO3)

CO2

M2CO3 mol− 1

https://dl.doubtnut.com/l/_vz7Bt2cYuS6C
https://dl.doubtnut.com/l/_adx7LEJCiVcC


1. Select the correct choice for given reaction after

balancing. 

A. 

B. 

C. 

D. 

Answer: A::B::C::D

View Text Solution

4HgS + 4CaO → 4Hg + x + CaS

x = HgSO4

x = CaSO4

x = HgSO3

CaSO3

https://dl.doubtnut.com/l/_adx7LEJCiVcC


2. How many molecules of  will needed to obtain 1.8 g

of glucose according to given reaction.

Reaction :  


 


A. 

B. 

C. 

D. 

Answer: A::B::C

View Text Solution

CO2

6CO2 + 6H2O → C6H12O6 + 6O2

[M. wtC6H12O6 = 180gmol− 1]

(C = 12, H = 1, O = 16)

0.6 × 6.022 × 1023

6 × 6.022 × 1023

0.06 × 6.022 × 1023

60 × 6.022 × 1023

https://dl.doubtnut.com/l/_tXapGyHreroZ
https://dl.doubtnut.com/l/_Lq4Oy5ntciHh


3. The concentration of  ion in aqueous solution of 

 is 0.28 M 


Then the concentration of  


ion in this solution will be:

A. 0.28 M

B. 0.042 M

C. 0.42 M

D. 0.84 M

Answer: B::C::D

View Text Solution

Al3 +

Al2(SO4)3

SO
2 −
4

https://dl.doubtnut.com/l/_Lq4Oy5ntciHh


4. On boiling 1 litre  HCl the volume of the aqueous

solution decreases to 250 mL During this reaction 3.65 g

of HCl is removed from solution, then the concerntration

of resulting solution becomes : 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

N

5

[HCl = 36.5gmol − 1]

N

20

N

10

N

2.5

N

5

https://dl.doubtnut.com/l/_metCMLoxFKmQ


5. The percentage of C in methanoic anhydride is ........

A. 64.86

B. 32.43

C. 3.243

D. 31.43

Answer: B::C::D

View Text Solution

6. Some statements are below based on the figure.

Identify true false statements. 

 

https://dl.doubtnut.com/l/_s51QZcCLhOvs
https://dl.doubtnut.com/l/_a86VGygEzqaH


(i) The sno. of moles of solution P and in solution - Q are

equal. 

(ii) The no. of gm-equivalents of solute in solution- P and

solution Q-are equal. 

(iii) The mole fractions of solvent in solution P and

solution - Q are equal. 

(iv) The concentration of  ions solution-P and

solution Q are equal.

A. FTFT

B. FFFT

C. FTTF

D. FTTT

Answer: A

H +
( aq )

https://dl.doubtnut.com/l/_a86VGygEzqaH


View Text Solution

7. How many sulphur atoms present in 2N 500 mL of

sulphuric acid ? 

(At. Mass of gms/mole)

A. 

B. 

C. 

D. 

Answer: A::B::C::D

View Text Solution

H = 1, S = 32, O = 16

1.515 × 1023

6.022 × 1023

1.5057 × 1022

3.0115 × 1023

https://dl.doubtnut.com/l/_a86VGygEzqaH
https://dl.doubtnut.com/l/_SvJs1UyvIz1C
https://dl.doubtnut.com/l/_LBn0jiNsFiwu


8. Sulphurtrioxide is prepared by following two reaction : 

(i)  

(ii)  


How many gram  of are produced from 159 g of 

(Atomic mass of  g/mole)

A. 64 g

B. 160 g

C. 128 g

D. 80 g

Answer: D

View Text Solution

Cu2S + O2 → Cu2O + SO2

2SO2 + O2 → 2SO3

SO3 Cu2S

Cu = 63.5, S = 32, O = 16

https://dl.doubtnut.com/l/_LBn0jiNsFiwu


9. How many number of molecule are there in 4.4 g of

 gas ? (  g/mole)

A. 

B. 

C. 

D. 

Answer: A::B

View Text Solution

CO2 C = 12, O = 16

6.022 × 1021

6.022 × 1022

6.022 × 1024

6.022 × 1023

10. Which of the following unit is derived unit ?

A. Temperature

https://dl.doubtnut.com/l/_gdMWWAXYQdlx
https://dl.doubtnut.com/l/_SIeHPP8BScYK


B. Time

C. Mass

D. Density

Answer: D

View Text Solution

11. Which of the following do not change with

temperature ?

A. % w/v

B. Molality

C. Density

https://dl.doubtnut.com/l/_SIeHPP8BScYK
https://dl.doubtnut.com/l/_UPB17k80qMZR


D. Molarity

Answer: A::B

View Text Solution

12. What degree Fahrenheit will be equivalent to 293 K ?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

273∘F

68∘F

293∘F

77∘F

https://dl.doubtnut.com/l/_UPB17k80qMZR
https://dl.doubtnut.com/l/_cEoMmJLXJxyS


13. 25 mL 0.1 N  neutralized with 20 mL 

. What will be the g/liter of  ?

A. 8.48 g

B. 4.24 g

C. 6.625 g

D. 13.25 g

Answer: B::C

View Text Solution

H2SO4

xNNa2CO3 Na2CO3

https://dl.doubtnut.com/l/_cEoMmJLXJxyS
https://dl.doubtnut.com/l/_gPlDyybwYm0I


14. A 0.50 g  is dissolve in 0.25 L solution, so find

out the normality and molarity respectively of the

solution. 

A. 0.040, 0.020

B. 0.4, 0.2

C. 0.020, 0.040

D. 0.2, 0.4

Answer: A::B::D

View Text Solution

H2SO4

(H = 1, S = 32, O = 16)

https://dl.doubtnut.com/l/_UIZUeBpMLUFA


15. The percentage of C, H and Cl in an organic compounds

is 10%, 0.84%, 89.2% respectively. Find out its empirical

formula.

A. 

B. 

C. 

D. 

Answer: B::C

View Text Solution

CCl4

CHCl3

CH2Cl2

CH3Cl

https://dl.doubtnut.com/l/_IEWZ7aeZjHBA


16. In following chemical reaction by taking 159 g of ,

how much gram of  produced ? (At. mass of 

 g/mole) 


(i)  

(ii) 

A. 80 g

B. 64 g

C. 120 g

D. 160 g

Answer: A

View Text Solution

Cu2S

SO3

Cu = 63.5, S = 32, O = 16

Cu2S + O2 → Cu2O + SO2

2SO2 + O2 → 2SO3

https://dl.doubtnut.com/l/_CdBUKsR3oGaC
https://dl.doubtnut.com/l/_7BymFCfTYOV0


17. In 2M solution, what is % w/w and mole fraction

of  respectively ?

A. 16.39, 0.035

B. 19.60, 0.036

C. 9.80, 0.96

D. 8.20, 0.036

Answer: A::C

View Text Solution

H2SO4

H2SO4

18. Which of these changes with temperature ?

A. Molality

https://dl.doubtnut.com/l/_7BymFCfTYOV0
https://dl.doubtnut.com/l/_de4Nn8cAg1AZ


B. Molarity

C. Mol fraction

D. % w/w

Answer: A::B

View Text Solution

19. What will be value of  in Fahrenheit scale ?

A. 

B. 

C. 

D. 

40∘C

183∘F

104∘F

300∘F

113∘F

https://dl.doubtnut.com/l/_de4Nn8cAg1AZ
https://dl.doubtnut.com/l/_g9tbDmBlv2Nk


Answer: A::B::D

View Text Solution

20. For the given reaction 

 


If 64 g of  is used, then 44 g of  is formed. 


8 g of  reacts to form 36 g of product. 


22 g of  is formed from  molecules of 

. 

At STP, if 22.4 litres of  is used, then 11.2 litres of

 is formed. 


Which of the above statements are correct ?

A. 

CH4 ( g ) + 2O2 ( g ) → CO2 ( g ) + 2H2O ( l )

O2 CO2

CH4

CO2 3.011 × 1023

CH4

O2 ( g )

CO2

2, 3, 4

https://dl.doubtnut.com/l/_g9tbDmBlv2Nk
https://dl.doubtnut.com/l/_AVwpXRbwJcOE


B. 

C. 

D. 1, 3

Answer: A::C::D

View Text Solution

1, 2, 3

1, 3, 4

21. Normality of 0.2M sulphuric acid solution is ........

A. 0.4 N

B. 0.6 N

C. 0.2 N

D. 0.1 N

https://dl.doubtnut.com/l/_AVwpXRbwJcOE
https://dl.doubtnut.com/l/_JE9JT6YKNscL


Answer: A::D

View Text Solution

22. Which of the following pairs will have the same

number of atoms ? 

[ atme wt. ]

A. 28 g CO and 36.5 g HCl

B. 44 g  and 44 g CO

C. 14 g  and 

D.  and 36.5 g HCl

Answer: A::B::C::D

View Text Solution

H = 1, O = 16, C = 12, Cl = 35.5gmol − 1

CO2

N2 28gCO2

28gN2

https://dl.doubtnut.com/l/_JE9JT6YKNscL
https://dl.doubtnut.com/l/_BobJz5MC2cYP


View Text Solution

23. The percentage of Carbon, Hydrogeon and Oxygen in

an organic substance are 40, 6.666 and 53.34 respectively.

Molecular mass of the compound is 180 g . Find the

value of integal number.

A. 6

B. 2

C. 1

D. 4

Answer: A

View Text Solution

mol− 1

https://dl.doubtnut.com/l/_BobJz5MC2cYP
https://dl.doubtnut.com/l/_hXwA3s1Fk037
https://dl.doubtnut.com/l/_fzPmxonI2iio


24. The percentage proportion of C, H and N in an organic

compound are 62.07, 10.34 and 14.0 respectively. Find its

empirical formula.

A. 

B. 

C. 

D. 

Answer: A::C::D

View Text Solution

C2H5NO2

C5H10NO2

C2H5NO2

C5H10NO

https://dl.doubtnut.com/l/_fzPmxonI2iio


25. How many moles  will be produced on theremal

decomposition of 25 gram ? 

A. 1

B. 2

C. 1.5

D. 0.25

Answer: B::D

View Text Solution

CO2

CaCO3 ? [C = 12, O = 16, Ca = 40]

26. How many protons are present in 4 g NaOH ?

https://dl.doubtnut.com/l/_vZeGWNUcX7Sd
https://dl.doubtnut.com/l/_Sg8AevNS3MLB


A. 

B. 

C. 

D. 

Answer: A::B::C::D

View Text Solution

6.022 × 1023

12.044 × 1023

12.044 × 1024

6.022 × 1022

27. What will be normality of the solution of the mixture

of 40 mL, 0.2 M  and 60 mL  ?

A. 0.26 N

B. 0.25 N

H2SO4 ( aq ) 0.3MH2SO4 ( aq )

https://dl.doubtnut.com/l/_Sg8AevNS3MLB
https://dl.doubtnut.com/l/_7jukuGZyShC8


C. 0.5 N

D. 0.52 N

Answer: B::D

View Text Solution

28. How many total atoms are in 1 mole of 

?

A. 

B. 

C. 

D. 19

(NH4)2Cr2O7

6.22 × 1023

114.47 × 1023

84 × 1023

https://dl.doubtnut.com/l/_7jukuGZyShC8
https://dl.doubtnut.com/l/_LIyjUdPqPYpc


Answer: A::B::C::D

View Text Solution

29. Which prefix used in SI sysytem has coefficient  ?

A. Micro

B. Tera

C. Mega

D. Femto

Answer: A::C

View Text Solution

106

https://dl.doubtnut.com/l/_LIyjUdPqPYpc
https://dl.doubtnut.com/l/_wSUm2SacUo70
https://dl.doubtnut.com/l/_Kubu2v4tmJ56


Section D Solutions Of Ncert Exemplar Problems Multiple

Choice Questions Mcqs

30. In which of the following compounds the percentage

of carbon atom is highest ?

A. 

B. 

C. 

D. 

Answer: A::B::C

View Text Solution

CH3 − CH2 − CH3

CH3 − CH − CH3
|   

OH

C12H22O11

CH3COOH

https://dl.doubtnut.com/l/_Kubu2v4tmJ56


1. Two students performed the same experiment separtely

and each one of the recorded two readings of mass which

are given below Correct reading of mass is 3.0g. On the

basis of given data, mark the correct option out of the

following statements 

A. Results of both the students are neither accurate

nor precise.

B. Results of student A are both precies and accurate.

C. Results of student B are neither precise nor

accurate

D. Results of student B are both precise and accurate.

https://dl.doubtnut.com/l/_U9FBZ41KHeI9


Answer: A::B::C::D

View Text Solution

2. A measured temperature on Fahrenheit scale is .

What will this reading be on celsius scale ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

200∘F

40∘C

94∘C

93.3∘C

30∘C

https://dl.doubtnut.com/l/_U9FBZ41KHeI9
https://dl.doubtnut.com/l/_oXHrAEreas2f


3. What will be the molarity of a solution, which contains

5.85g of  per 500 mL ?

A. 4 mol 

B. 20 mol 

C. 0.2 mol 

D. 2 mol 

Answer: A::B::C

View Text Solution

NaCl ( s )

L− 1

L− 1

L− 1

L− 1

4. If 500 mL of a 5M solution is diluted to 1500 mL, what

will be the molarity of the solution obtained ?

https://dl.doubtnut.com/l/_QulIL3SblLpb
https://dl.doubtnut.com/l/_N4Ih0pTgkclt


A. 1.5M

B. 1.66M

C. 0.017M

D. 1.59M

Answer: A::B

View Text Solution

5. The number of atoms present in one mole of an

element is equal to Avogadro number. Which of the

following element contains the greatest number of atoms

?

A. 4g He

https://dl.doubtnut.com/l/_N4Ih0pTgkclt
https://dl.doubtnut.com/l/_pPewGex6Uubi


B. 49g Na

C. 0.40g Ca

D. 12g He

Answer: A::B::D

View Text Solution

6. If the concentration of glucose  in blood is

 what will be the molarity of glucose in blood ?

A. 5 M

B. 50 M

C. 0.005 M

(C6H12O6)

0.9gL− 1

https://dl.doubtnut.com/l/_pPewGex6Uubi
https://dl.doubtnut.com/l/_I2KaYeljs4Tx


D. 0.5 M

Answer: C

View Text Solution

7. What will be the molarity of the solution containing

18.25 g of HCl gas in 500 g of water ?

A. 0.1 m

B. 1 M

C. 0.5 m

D. 1 m

Answer: A::D

https://dl.doubtnut.com/l/_I2KaYeljs4Tx
https://dl.doubtnut.com/l/_xxy0dk1C5x3B


View Text Solution

8. One mole of any substance contains 

atoms/molecules. Number of molecules of 

present in 100 mL of 0.02M  solution is ........ .

A.  molecules

B.  molecules

C.  molecules

D.  molecules

Answer: A::B::C::D

View Text Solution

6.022 × 1023

H2SO4

H2SO4

12.044 × 1020

6.022 × 1023

1 × 1023

12.044 × 1023

https://dl.doubtnut.com/l/_xxy0dk1C5x3B
https://dl.doubtnut.com/l/_iZ4BMMiJlal9
https://dl.doubtnut.com/l/_jlOSf6o40gqd


9. What is the mass per cent of carbon in carbon dioxide ?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

0.034 %

27.27 %

3.4 %

28.7 %

10. The empirical formula and molecular mass of a

compound are  and 180 g respectively. What wil be

the molecular formula of the compound ?

CH2O

https://dl.doubtnut.com/l/_jlOSf6o40gqd
https://dl.doubtnut.com/l/_cJFXKSA0yCU0


A. 

B. 

C. 

D. 

Answer: A::B::C

View Text Solution

C9H18O9

CH2O

C6H12O6

C2H4O2

11. If the density of a solution is , the mass of

1.5 mL solution in significant figures is .........

A. 4.7 g

B.  g

3.12gmL− 1

4680 × 10− 3

https://dl.doubtnut.com/l/_cJFXKSA0yCU0
https://dl.doubtnut.com/l/_sOUmbkhzRukq


C. 4.680 g

D. 46.80 g

Answer: C::D

View Text Solution

12. Which of the following statements about a compound

is incorrect ?

A. A molecule of a compound has atoms of different

elements.

B. A compound cannot be separated into its

constituent elements by physical methods of

https://dl.doubtnut.com/l/_sOUmbkhzRukq
https://dl.doubtnut.com/l/_4oFvfclgzxBq


separation.

C. A compound retains the physical properties of its

constituent elements.

D. The ratio of atoms of different elements in a

compound is fixed.

Answer: A::C::D

View Text Solution

13. Which of the following statements is correct about the

reaction given below ? 

4Fe ( s ) + 3O2 ( g ) → 2Fe2O3 ( g )

https://dl.doubtnut.com/l/_4oFvfclgzxBq
https://dl.doubtnut.com/l/_ZM4ECu4s3sBD


A. Total mass of iron and oxygen in reactants  total

mass of iron and oxygen in product therefore it

follows law of conservation of mass.

B. Total mass of reactants  total mass of product,

therefore, law of multiple proportions is followed.

C. Amount of  can be increased by taking any

one of the reactants ( iron or oxygen) in excess.

D. Amount of  will decrease if the amount of any

one of the reactants ( iron or oxygen ) is taken in

excess.

Answer: A

View Text Solution

=

=

Fe2O3

Fe2O3

https://dl.doubtnut.com/l/_ZM4ECu4s3sBD


14. Which of the following reactions is not correct

according to the law of conservation of mass ?

A. 

B. 

C. 

D. 

Answer: A::B::C

View Text Solution

2Mg ( s ) + O2 ( g ) → 2MgO ( s )

C3H8 ( g ) + O2 ( g ) → CO2 ( g ) + H2O ( g )

P4 ( s ) + 5O2 ( g ) → P4O10 ( s )

CH4 ( g ) + 2O2 ( g ) → CO2 ( g ) + 2H2O ( g )

https://dl.doubtnut.com/l/_ZM4ECu4s3sBD
https://dl.doubtnut.com/l/_YHxDQ5r7Lb4N


15. Which of the following statements indicates that law

of multiple proportions is being followed .

A. Sample of carbon dioxide taken from any source will

always have carbon and oxygen in the ratio .

B. Carbon forms two oxides namely  and CO,

where masses of oxygen which combine with fixed

mass of carbon are in the simple ratio .

C. When magnesium burns in oxygen , the amount of

magnesium taken for the reaction is equal to the

amount of magnesium in magnesium oxide formed.

D. At constant temperature and pressure 200 mL of

hydrogen will combine with 100 mL oxygen to

1: 2

CO2

2: 1

https://dl.doubtnut.com/l/_bpNygaXZ7BZg


Section D Solutions Of Ncert Exemplar Problems Mcqs More

Than One Options

produce 200 mL of water vapour.

Answer: D

View Text Solution

1. One mole of oxygen gas at STP is equal to ......

A.  molecules of oxygen

B.  atoms of oxygen

C. 16 g of oxygen

D. 32 g of oxygen

6.022 × 1023

6.022 × 1023

https://dl.doubtnut.com/l/_bpNygaXZ7BZg
https://dl.doubtnut.com/l/_3HM1lu1yL2GW


Answer: A::D

View Text Solution

2. Sulphuric acid reacts with sodium hydroxide as follows :

 


When 1 L of 0.1M sulphuric acid solution is allowed to

react with 1L of 0.1 M sodium hydroxide solution, the

amount of sodium sulphate formed and its molarity in the

solution obtained is

A. 0.1 mol 

B. 7.10 g

C. 0.025 mol 

H2SO4 + 2NaOH → Na2SO4 + 2H2O

L− 1

L− 1

https://dl.doubtnut.com/l/_3HM1lu1yL2GW
https://dl.doubtnut.com/l/_dnO0pE1evzYy


D. 3.055 g

Answer: B::C

View Text Solution

3. Which of the following pairs have the same number of

atoms ?

A. 16 g of  and 4 g of 

B. 16 g of  and 44 g of CO

C. 28 g of  and 32 g of 

D. 12 g of  and 23 g of 

Answer: C::D

O2 ( g ) H2 ( g )

O2

N2 O2

C ( s ) Na ( s )

https://dl.doubtnut.com/l/_dnO0pE1evzYy
https://dl.doubtnut.com/l/_gdKQrWKVR8oV


View Text Solution

4. Which of the following solutions have the same

concentration ?

A. 20 g of NaOH in 200 mL of solution

B. 0.5 mol of KCl in 200 mL of solution

C. 40 g of NaOH in 100 mL of solution

D. 20 g of KOH in 200 mL of solution

Answer: A::B

View Text Solution

https://dl.doubtnut.com/l/_gdKQrWKVR8oV
https://dl.doubtnut.com/l/_PppFBtaDOmcE


5. 16 g of oxygen has same number of molecules as in

A. 16 g of CO

B. 28 g of 

C. 14 g of 

D. 1.0 g of 

Answer: C::D

View Text Solution

N2

N2

H2

6. Which of the following terms are unitless ?

A. Molality

https://dl.doubtnut.com/l/_sEj8dSdcvx1x
https://dl.doubtnut.com/l/_MHpVu8SoNXzX


B. Molarity

C. Mole fraction

D. Mass percent

Answer: C::D

View Text Solution

7. One of the statements of Dalton's atomic theory is given

below : " Compounds are formed when atoms of different

elements combine in a fixed ratio " 

Which of the following laws is not related to this

statement ?

A. Law of conservation of mass

https://dl.doubtnut.com/l/_MHpVu8SoNXzX
https://dl.doubtnut.com/l/_DiC6s2g3Clk3


Section D Solutions Of Ncert Exemplar Problems Short

Answer Type Questions

B. Law of definite proportions

C. Law of multiple proportions

D. Avogadro law

Answer: A::D

View Text Solution

1. What will be the mass of one atom of C-12 in grams ?

A. 

B. 

https://dl.doubtnut.com/l/_DiC6s2g3Clk3
https://dl.doubtnut.com/l/_kNy82X2ZeFhF


C. 

D. 

Answer:

View Text Solution

2. How many significant figures should be present in the

answer of the following calculations ? 

A. 

B. 

C. 

2.5 × 1.25 × 3.5

2.01

https://dl.doubtnut.com/l/_kNy82X2ZeFhF
https://dl.doubtnut.com/l/_TZrxt6U2CYGP


D. 

Answer:

View Text Solution

3. What is the symbol for SI unit of mole ? How is the mole

defined ?

A. 

B. 

C. 

D. 

Answer:

https://dl.doubtnut.com/l/_TZrxt6U2CYGP
https://dl.doubtnut.com/l/_FWNop6cIs04d


View Text Solution

4. What is the difference between molality and molarity ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_FWNop6cIs04d
https://dl.doubtnut.com/l/_VWqe0RhMb0ka


5. Calculate the mass percent of calcium, phosphorus and

oxygen in calcium phosphate .

A. 

B. 

C. 

D. 

Answer:

View Text Solution

Ca3(PO4)2

6. 45.6 L of dinitrogen reacted with 22.7 L of dioxygen and

45.4 L of nitrous oxide was formed. The reaction is given

https://dl.doubtnut.com/l/_8vDj4ml47Cln
https://dl.doubtnut.com/l/_KyhQwrqyru9h


below : 

 


Which law is being obeyed in this experiment ? Write the

statement of the law ?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

2N2 ( g ) + O2 ( g ) → 2N2O ( g )

https://dl.doubtnut.com/l/_KyhQwrqyru9h


7. If two elements can combine to form more than one

compound, the masses of one element that combine with

a fixed mass of the other element, are in whole number

ratio. 

(a) Is this statement true ? 

(b) If yes, according to which law ? 

(C) Give one example related to this law.

A. 

B. 

C. 

D. 

Answer:

Vi T t S l ti

https://dl.doubtnut.com/l/_7eAfM9YduHfP


View Text Solution

8. Calculate the average atomic mass of hydrogen using

the following data : 

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_7eAfM9YduHfP
https://dl.doubtnut.com/l/_agaw1yWjzEWW


9. Hydrogen gas is perpared in the laboratory by reacting

dilute HCl with granulated zinc. Following reaction takes

place. 

 


Calculate the volume of hydrogen gas liberated at STP

when 32.65 g of zinc reacts with HCl. 1 mol of a gas

occupies 22.7 L volume at STP, atomic mass of 

.

A. 

B. 

C. 

D. 

Answer:

Zn + 2HCl → ZnCl2 + H2

Zn = 65.3u

https://dl.doubtnut.com/l/_tIkEQmeYRCXu


View Text Solution

10. The density of 3 molal solution of NaOH is 1.110 g

 . Calculate the molarity of the solution.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

mL− 1

https://dl.doubtnut.com/l/_tIkEQmeYRCXu
https://dl.doubtnut.com/l/_IX9MNS8EeTr8


11. Volume of a solution changes with change in

temperature, then, what will the molality of the solution

be affected by temperature ? Give reason for your answer.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_fPOkwsJ00SmB


12. If 4 g of NaOH dissolves in 36 g of , calculate the

mole fraction of each component in the solution. Also,

determine the molarity of solution (specific gravity of

solution is ).

A. 

B. 

C. 

D. 

Answer:

View Text Solution

H2O

1gmL− 1

https://dl.doubtnut.com/l/_DB0hVUoL89zB


13. The reactant which is entirely consumed in reaction is

known as limiting reagent, in the reaction

, when 5 moles of A react with 6

moles of B, then 

(i) which is the limiting reagent ? 

(ii) calculate the amount of C formed ? 

A. 

B. 

C. 

D. 

Answer:

Vi T t S l ti

2A + 4B → 3C + 4D

2A + 4B → 3C + 4D

https://dl.doubtnut.com/l/_3V27FRjx1dhl


Section D Solutions Of Ncert Exemplar Problems Matching

The Columns

View Text Solution

1. Match the following : 

A. 

B. 

C. 

D. 

Answer: (A-2), (B-3), (C-1), (D-5), (E-4)

View Text Solution

https://dl.doubtnut.com/l/_3V27FRjx1dhl
https://dl.doubtnut.com/l/_mqDI9jahgJo9


Section D Solutions Of Ncert Exemplar Problems Assertion

And Reason

2. Match the following physical quantities with units. 

A. 

B. 

C. 

D. 

Answer: (A-5), (B-4), (C-2), (D-7), (E-3), (F-6), (G-1), (H-9)

View Text Solution

https://dl.doubtnut.com/l/_mqDI9jahgJo9
https://dl.doubtnut.com/l/_O2Z0ldUOehCG


1. Assertion (A) : The empirical mass of ethane is half of its

molecular mass. 

Reason (R) : The empirical formula represents the simplest

whole number ratio of various atoms present in a

compound.

A. Both A and R are true and R is the correct

explanation of A.

B. A is true but R is false.

C. A is false but R is true.

D. Both A and R are false.

Answer: A::B::C::D

View Text Solution

https://dl.doubtnut.com/l/_gx583o008lK8


2. Assertion (A) : One atomic mass unit is defined as one

twelfth of the mass of one carbon-12 atom. 

Reason (R) : Carbon - 12 isotope is the most abundant

isotope of carbon and has been chosen as standard.

A. Both A and R are true and R is the correct

explanation of A.

B. Both A and R true but R is not the correct

explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: A::B::C::D

https://dl.doubtnut.com/l/_gx583o008lK8
https://dl.doubtnut.com/l/_sDYqvybEULCM


View Text Solution

3. Assertion (A) : Significant figures for 0.200 is 3 where as

for 200 it is 1. 

Reason (R) : Zero at the end or right of a number are

significant provided they are not on the right side of the

decimal point .

A. Both A and R are true and R is the correct

explanation of A.

B. Both A and R are true but R is not the correct

explanation of A.

C. A is true but R is false.

D. Both A and R are false.

https://dl.doubtnut.com/l/_sDYqvybEULCM
https://dl.doubtnut.com/l/_4mGUpbnqcknH


Answer: A::B::C

View Text Solution

4. Assertion (A) : Combustion of 16 g of methane gives 18 g

of water. 

Reason (R) : In the combustion of methane, water is one

of the products.

A. Both A and R are true but R is not the correct

explanation of A.

B. A is true but R is false.

C. A is false but R is true.

D. Both A and R are false.

https://dl.doubtnut.com/l/_4mGUpbnqcknH
https://dl.doubtnut.com/l/_00arb2sCS3uO


Section D Solutions Of Ncert Exemplar Problems Long

Answer Type Questions

Answer: A::B::C

View Text Solution

1. A vessel contains 1.6 g of dioxygen at STP (273.15 K, 1 atm

pressure). The gas is now transferred to another vessel at

constant temperature, where pressure becomes half of

the original pressure. Calculate 

(A) volume of the new vessel. 

(B) number of molecules of dioxygen.

A. 

https://dl.doubtnut.com/l/_00arb2sCS3uO
https://dl.doubtnut.com/l/_QsDGRIMFQvIi


B. 

C. 

D. 

Answer:

View Text Solution

2. Calcium carbonate reacts with aqueous HCl to give

 and  according to the reaction given below : 


What mass of  will be formed when 250 mL of 0.76

M HCl reacts with 1000 g of  ? Name the limiting

reagent. Calculate the number of moles of  formed

in the reaction.

CaCl2 CO2

CaCO3 ( s ) + 2HCl ( aq ) → CaCl2 ( aq ) + CO2 ( g ) + H2O ( l )

CaCl2

CaCO3

CaCl2

https://dl.doubtnut.com/l/_QsDGRIMFQvIi
https://dl.doubtnut.com/l/_TkjPBb7z7h8b


A. 

B. 

C. 

D. 

Answer:

View Text Solution

3. Define the law of multiple proportions. Explain it with

two examples. How does this law point to the existance of

atoms ?

A. 

https://dl.doubtnut.com/l/_TkjPBb7z7h8b
https://dl.doubtnut.com/l/_XGVFy7BShyYW


B. 

C. 

D. 

Answer:

View Text Solution

4. A box contains some identical red coloured balls,

labelled as A, each weighing 2g. Another box contains

identical blue coloured balls, labelled as B, each weighing

5 g. Consider the combinations AB,  and 

and show that law of multiple proportions is applicable.

A. 

AB2, A2B A2B3

https://dl.doubtnut.com/l/_XGVFy7BShyYW
https://dl.doubtnut.com/l/_eRqHd9ipT3BB


B. 

C. 

D. 

Answer:

View Text Solution

https://dl.doubtnut.com/l/_eRqHd9ipT3BB

